
CHEMISTRY

BOOKS - R SHARMA CHEMISTRY (HINGLISH)

THE P BLOCK ELEMENTS

Follow Up Test 1

1. Which of the following Group 15 elements can form a neutral oxide?

A. Nitrogen

B. Phosphorus

C. Arsenic and antimony

D. Bismuth

Answer: 1

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pwawCPXg6Sys


Watch Video Solution

2. How many allotropes are possible for the element nitrogen?

A. Four

B. Three

C. Two

D. Only one

Answer: 4

Watch Video Solution

3. Which of the following compounds is known as indian saltpeter?

A. 

B. 

C. 

NaNO3

KNO3

KNO2

https://dl.doubtnut.com/l/_pwawCPXg6Sys
https://dl.doubtnut.com/l/_xHHxalfSG2wd
https://dl.doubtnut.com/l/_LceB9C1EnMwR


D. 

Answer: 2

Watch Video Solution

NaO2

4. Nitrogen is an essential constituent of

A. carbohydrates and enzymes

B. fats and carbohydrates

C. proteins and amino acids

D. vitamin C and vitamin D

Answer: 3

Watch Video Solution

5. Nitrogen , is fixed (converted to compounds)byN2

https://dl.doubtnut.com/l/_LceB9C1EnMwR
https://dl.doubtnut.com/l/_YBuxaQIIDdKP
https://dl.doubtnut.com/l/_MUfSEUQoUvnI


A. bacteria

B. Lightning

C. the industrial synthesis of 

D. All of these

Answer: 4

Watch Video Solution

NH3

6. Which of the following is correct for phosphorus ? 

(i) it occurs in minerals of the apatite family which are the main

components of phosphate rocks. 

(ii) It is an essential constituent of animals and plant matter 

(iii) It is present in bones as well as in living cells. 

(iv) Phospho proteins are present in milk and eggs.

A. (i),(ii),(iii)

B. (i),(ii),(iii),(iv)

https://dl.doubtnut.com/l/_MUfSEUQoUvnI
https://dl.doubtnut.com/l/_I52vt7VAULyL


Follow Up Test 2

C. (ii),(iii),(iv)

D. (ii),(iii)

Answer: 2

Watch Video Solution

1. The atomic number of is , the atomic number of fourth member of

Group  will be

A. 

B. 

C. 

D. 

Answer: 4

N 7

15

51

50

52

53

https://dl.doubtnut.com/l/_I52vt7VAULyL
https://dl.doubtnut.com/l/_awa8EBM5VRTh


Watch Video Solution

2. The ground state electronic configuration of bismuth ( ) is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

Z = 83

[Xe]5d106s26p3

[Xe]4f 146s26p3

[Xe]4f 145d106s26p3

[Xe]6d106s26p3

3. convalent and ionic (in a particular state )radii increase in size down

that group. Only a small increase in covalent radius is observed as one

moves from

A.  toN P

https://dl.doubtnut.com/l/_awa8EBM5VRTh
https://dl.doubtnut.com/l/_tTbpEkVJEbar
https://dl.doubtnut.com/l/_UgbvTnVNLXVN


B.  to

C.  to

D.  to

Answer: 4

Watch Video Solution

P As

As Sb

Sb Bi

4. Ionization enthalpy decreases down the group due to gradual

increases in atomic size .However the deviation is observed as we move

from

A.  to

B.  to

C.  to

D.  to

Answer: 1

Sb Bi

As Sb

P As

N P

https://dl.doubtnut.com/l/_UgbvTnVNLXVN
https://dl.doubtnut.com/l/_OOhOpKflCmuD


Watch Video Solution

5. Which of the following Group  elements have same pauling's

electronegativity?

A. and 

B. and 

C. and

D.  and

Answer: 2

Watch Video Solution

15

As, Sb Bi

Sb Bi

As Sb

P As

6. Which of the following elements from amphoteric oxides?

A.  and 

B.  and 

N P

P As

https://dl.doubtnut.com/l/_OOhOpKflCmuD
https://dl.doubtnut.com/l/_U7io6HDCHYbR
https://dl.doubtnut.com/l/_aOBUQU07aLaY


C.  and 

D.  and 

Answer: 3

Watch Video Solution

As Sb

Sb Bi

7. Which of the following solids sublimes on heating?

A. Phosphorus

B. Bismuth

C. Antimony

D. Arsenic

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_aOBUQU07aLaY
https://dl.doubtnut.com/l/_NTZwi0sl1fyZ


8. Which of the following Group  elements do not show allotropy?

A.  and

B.  and 

C.  and 

D.  and 

Answer: 3

Watch Video Solution

15

N As

N Sb

N Bi

As Sb

9. A very wide range of oxidation states is shown by the element

A. 

B. 

C. 

D. 

Sb

As

P

N

https://dl.doubtnut.com/l/_ZJyqwNoJQppm
https://dl.doubtnut.com/l/_DHK68kO6iOMu


Answer: 4

Watch Video Solution

10. The elements that has the maximum tendency to show the inert pair

effect is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

Bi

Sb

As

N

11. The oxidation state of -3 is least stable in

https://dl.doubtnut.com/l/_DHK68kO6iOMu
https://dl.doubtnut.com/l/_0b9txLiCbdiJ
https://dl.doubtnut.com/l/_xytgs33nfIGG


A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

As

P

Bi

Sb

12. Which of the following are ionic compounds?

A. and

B. and

C. and

D. and

Answer: 4

Watch Video Solution

NF3 PF3

PF3 AsF3

AsF3 SbF3

SbF3 BiF3

https://dl.doubtnut.com/l/_xytgs33nfIGG
https://dl.doubtnut.com/l/_eRxt7sZursrS


13. Which of the following compounds are ionic ? 

(i) , (ii)  (iii)  (iv) 

A. (i),(ii),(iii),(iV)

B. (i),(ii),(iv)

C. (ii),(iii),(iV)

D. (i),(iV)

Answer: 1

Watch Video Solution

Li3N Be3N2 Mg3N2 Ca3N2

14. Which of the following statement is correct regarding the nitrogen

molecule? 

(i) it is diamagnetic and diatomic 

(ii) It is contains a triple bond 

https://dl.doubtnut.com/l/_eRxt7sZursrS
https://dl.doubtnut.com/l/_QxwEy6RP996l
https://dl.doubtnut.com/l/_KlTcvOeaxEpb


(iii) It is very stable 

(iv) It is inert at room temperature

A. (ii),(iii),(iV)

B. (i),(ii)

C. (i),(ii),(iii),(iV)

D. (i),(ii),(iii)

Answer: 3

Watch Video Solution

15. Which of the following species are isoelectronic with  molecule?

A.  and 

B.  and 

C.  and 

D.  and 

N2

O+
2 , O−

2 CO+

CO, CN − NO+

CO, CN + NO−

CO+ , NO O2 −
2

https://dl.doubtnut.com/l/_KlTcvOeaxEpb
https://dl.doubtnut.com/l/_01IXK1eufdov


Answer: 2

Watch Video Solution

16. The maximum covalency of nitrogen is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

6

5

4

3

17. Nitrogen has unique ability to form strong

A.  multiple bondspπ − pπ

https://dl.doubtnut.com/l/_01IXK1eufdov
https://dl.doubtnut.com/l/_irtfheHgjG0N
https://dl.doubtnut.com/l/_LlrPE4wbjaVY


B.  multiple bonds

C.  multiple bonds

D. All of these

Answer: 1

Watch Video Solution

dπ − pπ

dπ − dπ

18. which of the following elements exhibits the strongest tendency for

catenation?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

N

P

As

Sb

https://dl.doubtnut.com/l/_LlrPE4wbjaVY
https://dl.doubtnut.com/l/_ixlnF89UMhtw


Follow Up Test 3

19. which of the follwing hydrides of Group  elements has the highest

melting point?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

15

SbH3

AsH3

PH3

NH3

1. The least stable hydride is

A. PH3

https://dl.doubtnut.com/l/_ixlnF89UMhtw
https://dl.doubtnut.com/l/_BKoBWo70xczq
https://dl.doubtnut.com/l/_z6wyvXgsqwae


B. 

C. 

D. 

Answer: 4

Watch Video Solution

AsH3

SbH3

BiH3

2. The strongest reducing agent amongst all the hydrides of Group 

element is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

15

BiH3

PH3

NH3

AsH3

https://dl.doubtnut.com/l/_z6wyvXgsqwae
https://dl.doubtnut.com/l/_cZgrlp8VkQCf


3. Which of the following hydridess is the strongest Lewis base?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

PH3

NH3

SbH3

BiH3

4. Which of the following has the highest boiling point?

A. 

B. 

C. 

D. 

SbH3

AsH3

PH3

NH3

https://dl.doubtnut.com/l/_cZgrlp8VkQCf
https://dl.doubtnut.com/l/_Ekj3DDkVFdUN
https://dl.doubtnut.com/l/_TjMlaD9Qhtz8


Answer: 1

Watch Video Solution

5. Which of the following is not formed when  reacts with  to

produce a series fasts?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

N2H4 H2SO4

N2H4. H2SO4

N2H
2 +
6

N2H
2 +
4

N2H
+

5

6. which of the following is the weakest base?

https://dl.doubtnut.com/l/_TjMlaD9Qhtz8
https://dl.doubtnut.com/l/_BbIUAybmOB65
https://dl.doubtnut.com/l/_w3CTLTxZBRJ0


A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

CH3NH2

NH3

N2H4

NH2OH

7. The appropriate reduction potentials suggest that hydroxylamine

should disproportionate .It disproportionate slowly in acidic solutions to

give

A. and 

B.  and 

C.  and 

D.  and 

N2O NH
+

4

N2 NH3

NO NH3

NO2 NH
+

4

https://dl.doubtnut.com/l/_w3CTLTxZBRJ0
https://dl.doubtnut.com/l/_nPfupk07yYyr


Answer: 1

Watch Video Solution

8. Hydroxylamine is manufactured by reducing nitrites with

A. 

B. 

C.  in the presence of 

D. in the presence of 

Answer: 3

Watch Video Solution

HI

CH3NO2

SO2 NH4HSO3

SO2 H2SO4

9. which of the following statement is not correct ?

A. all the group  element form two types of oxides:  and 15 E2O3 E2O5

https://dl.doubtnut.com/l/_nPfupk07yYyr
https://dl.doubtnut.com/l/_6Ho7pVmmnF54
https://dl.doubtnut.com/l/_lfAiGc4inMNv


B. The oxide in the higher oxidation state of the element is mor acidic

than that of lower oxidation state

C. Acidic character of oxides increases on moving down the group

D. Oxides of P, As, Sb and Bi exist as the dimmers.

Answer: 3

Watch Video Solution

10. which of the folowing is the strongest oxidizing agent?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

As2O5

N2O5

P2O5

Sb2O5

https://dl.doubtnut.com/l/_lfAiGc4inMNv
https://dl.doubtnut.com/l/_dmVNK7T6oPlt


11. Though nitrogen exhibits oxidation state,it does not form

pentahalide ,because

A. nitrogen is inert

B. nitrogen is small in size

C. nitrogen does not have empty orbitlas of right energy

D. nitrogen forms always three bonds

Answer: 3

Watch Video Solution

+5

12. Which of the following halides of nitrogen is stable?

A. 

B. 

C. 

NF3

NI3

NBr3

https://dl.doubtnut.com/l/_dmVNK7T6oPlt
https://dl.doubtnut.com/l/_uPFO7EYxXbiA
https://dl.doubtnut.com/l/_bGf0tzT0XbwM


D. 

Answer: 1

Watch Video Solution

NCl3

13. The tendency of nitrogen halides to act as Lawis bases decreases in

the order

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

NF3 > NCl3 > NBr3 = NI3

NF3 = NCl3 > NBr3 > NI3

NI3 > NBr3 > NCl3 > NF3

NF3 > NCl3 > NBr3 > NI3

https://dl.doubtnut.com/l/_bGf0tzT0XbwM
https://dl.doubtnut.com/l/_1f22Beg5njs9


14. Both  and  possess tetrahedral geometries but the dipole

moment of  (  De bye ) is very low compared with D for 

.This is because

A. fluorine is more electronegative than hydrogen

B. fluorine is bigger than hydrogen

C. bonds are less polar than bonds

D. bond dipoles tend to cancel the electron dipole due to lone pair.

Answer: 4

Watch Video Solution

NF3 NH3

NF3 0.23 1.47 NH3

N − F N − H

15. Which of the following trihalides of is least acidic?

A. 

B. 

C. 

P

PI3

PBr3

PCl3

https://dl.doubtnut.com/l/_A9qO5U2qR9Rp
https://dl.doubtnut.com/l/_KxwPjSf4HnvK


D. 

Answer: 1

Watch Video Solution

PF3

16. Which of the following trihalides has the maximum bond angle?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

PI3

PBr3

PCl3

PF3

17. Which of the trichlorides is hydrolyzed most easily?

https://dl.doubtnut.com/l/_KxwPjSf4HnvK
https://dl.doubtnut.com/l/_F15qp4Bte4Oz
https://dl.doubtnut.com/l/_xUoBIYxZldRE


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

SbCl3

NCl3

AsCl3

PCl3

18. Which of the following is hydrolysed to give white precipitate of

oxychloride?

A. 

B. 

C. 

D. 

Answer: 3

NCl3

PCl3

BiCl3

AsCl3

https://dl.doubtnut.com/l/_xUoBIYxZldRE
https://dl.doubtnut.com/l/_L3fVSRE1ZXsH


Follow Up Test 4

Watch Video Solution

1. Which of the following reactions is used in the preparation of ?

A. 

B. 

C. 

D. All of these

Answer: 4

Watch Video Solution

N2(g)

(NH4)2Cr2O7

heat
−−→

NH3 + Ca(OCl)2

heat
−−→

NH4Cl + NaNO2

heat
−−→

2. Small quantities for very pure may be obtained by carefully warming

A. a mixture of  and 

N2

NH3 Br2

https://dl.doubtnut.com/l/_L3fVSRE1ZXsH
https://dl.doubtnut.com/l/_XXIbVF9wRp2w
https://dl.doubtnut.com/l/_xYxAM8TJdtBX


B. barium azide

C. sodium azide

D. both (2) and (3)

Answer: 4

Watch Video Solution

3. Dinitrogen is commercially prepared by

A. the action of alkaline hypobromite solution on urea

B. the oxidation of by passing it over heated copper oxide.

C. fractional distillation of liquefied air

D. heating barium aside

Answer: 3

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_xYxAM8TJdtBX
https://dl.doubtnut.com/l/_YO38I7HW7scJ
https://dl.doubtnut.com/l/_fMpqYYRrOj99


4. At elevated temperatures

A. becomes increasingly reactive

B. reacts with some of the transition metals

C. reacts directly with elements of group  and with 

D. all the above are true

Answer: 4

Watch Video Solution

N2

N2

N2 2, 13, 14 H2

5. Calcium carbide an heating with dinitrogen at gives

A. calcium cyanamide

B. nitrolim

C. hydrolith

D. calcium ammonium nitrate

1100∘C

https://dl.doubtnut.com/l/_fMpqYYRrOj99
https://dl.doubtnut.com/l/_guu6Bke6WZrr


Answer: 2

Watch Video Solution

6. Which of the following compounds does not give on heating?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

N2

NaN3

(NH4)2Cr2O7

NH4NO2

KNO3

7. Animals die in an atmosphere of dinitrogen due to

https://dl.doubtnut.com/l/_guu6Bke6WZrr
https://dl.doubtnut.com/l/_GgezLZIh6imo
https://dl.doubtnut.com/l/_QyQyomC6v8M0


A. the formation of isocyanide ions which block the oxygen -binding

site of haemoglobin.

B. the formation of cyanide ions which block the oxygen binding site

of haemoglobin

C. lake of oxygen

D. none of these

Answer: 3

Watch Video Solution

8. Nitrogen is used to fill electric bulbs because

A. it is provides good illumination

B. it does not support combustion

C. it is heavier than air

D. it is highly reactive

https://dl.doubtnut.com/l/_QyQyomC6v8M0
https://dl.doubtnut.com/l/_0GlrWP4yXAPo


Follow Up Test 5

Answer: 2

Watch Video Solution

9. Liquid nitrogen is used to make

A. fertilizers

B. ice

C. solid semiconductors

D. solid superconductors

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_0GlrWP4yXAPo
https://dl.doubtnut.com/l/_1EHSa4qa60UF


1. Ammonia  is a colourless gas with a pungent odour. It can be

prepared by

A. hydrolysis of calcium cyanamide

B. hydrolysis of aluminium nitride

C. heating an ammonium salt with a base

D. All of these

Answer: 4

Watch Video Solution

(NH3)

2. Ammonia gas is manufactured industrially from and  by the

A. Contact process

B. Haber process

C. Ostwald process

D. Solvay process

N2 H2

https://dl.doubtnut.com/l/_wM3KPv7b6TGN
https://dl.doubtnut.com/l/_2aLxD76GEJx1


Answer: 2

Watch Video Solution

3. Ammonia gas can be collected by the downward displacement of

A. water

B. air

C. mercury

D. acid

Answer: 2

Watch Video Solution

4. Ammonia gas is dried by

A. CaO

https://dl.doubtnut.com/l/_2aLxD76GEJx1
https://dl.doubtnut.com/l/_l8Os0vb2LbBQ
https://dl.doubtnut.com/l/_I9gcVZMxg5aG


B. Conc.

C. 

D. Anhydrous 

Answer: 1

Watch Video Solution

H2SO4

P4O10

CaCl2

5. Liquid ammonia is used to refrigeration because of its

A. pyramidal shape

B. high dipole moment

C. high heat of vaporization

D. stability

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_I9gcVZMxg5aG
https://dl.doubtnut.com/l/_CCYtyAX9ZDzA
https://dl.doubtnut.com/l/_UzmP3qU7pOeE


6. An aqueous solution of ammonia consist of

A.  and 

B.  and 

C. 

D. 

Answer: 2

Watch Video Solution

NH3 OH −

NH
+

4 OH −

OH −

H +

7. Ammonia is not used

A. as an anaesthetic

B. in cold storage

C. to manufature rayon and plastic

D. to produce hydrogen

https://dl.doubtnut.com/l/_UzmP3qU7pOeE
https://dl.doubtnut.com/l/_ptVI6jTEAHn5


Answer: 1

Watch Video Solution

8. which of the following compounds does not yield on heating?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

NH3

NH4Cl

(NH4)2CO3

(NH4)2SO4

NH4NO2

9. Which of the following cations does not form complex with ammonia?

A. Cd2 +

https://dl.doubtnut.com/l/_ptVI6jTEAHn5
https://dl.doubtnut.com/l/_OzeO0lbEliHM
https://dl.doubtnut.com/l/_gHoV7BGACwau


B. 

C. 

D. 

Answer: 2

Watch Video Solution

Pb2 +

Ag+

Cu2 +

10. Ammonia reacts with in the presence of solution to

give a

A. grey precipitate

B. dark red precipitate

C. brown precipitate

D. black precipitate

Answer: 3

Watch Video Solution

K2[HgI4] KOH

https://dl.doubtnut.com/l/_gHoV7BGACwau
https://dl.doubtnut.com/l/_CnvcZs7Mlpzm


11. Which of the following compound gives a black precipitate with

ammonia solution?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

AgCl

HgCl2

CuSO4

Hg2Cl2

12. which of the following compounds is formed when is treated

with liquor ammonia?

A. 

B. 

ZnSO4

Zn(OH)2. Zn(NH3)4SO4

Zn(OH)2. ZnSO4. NH3

https://dl.doubtnut.com/l/_CnvcZs7Mlpzm
https://dl.doubtnut.com/l/_5c6V9YtnIaqr
https://dl.doubtnut.com/l/_V6ov2dz4qXnF


C. 

D. 

Answer: 3

Watch Video Solution

[Zn(NH3)4]SO4

[Zn(NH3)6]SO4

13. Silver nitrate dissolves in liquor to produce

A. Tollens reagent

B. Fehling's solution

C. Schiff reagent

D. Fenton's reagent

Answer: 3

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_V6ov2dz4qXnF
https://dl.doubtnut.com/l/_3o9PZhjsUi3l


14. Sodium reacts with liquids  to produce.

A.  and 

B.  and 

C.  and 

D. 

Answer: 2

Watch Video Solution

NH3

NaNH2 N2

NaNH2 N2

NaH N2H4

NaNH2

15. Liquid ammonia undergoes self-ionization ,which may be represented

as

A. 

B. 

C. 

D. 

2NH3 ⇔ NH
+

4 + NH +
2

NH4OH ⇔ NH
+

4 + OH −

NH3 + H2O ⇔ NH
+

4 + OH −

NH3 + H2O ⇔ NH
+

4 + OH −

https://dl.doubtnut.com/l/_U0vROO1Xm8I7
https://dl.doubtnut.com/l/_ER6xls3OVb33


Answer: 4

Watch Video Solution

16. Which of the following compound is formed when copper sulphate

solution is treated with an excess of aqueous ammonia?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

[Cu(NH3)4]2
SO4

[Cu(NH3)6]SO4

[Cu(NH3)4]SO4

[Cu(NH4)3]SO4

17. in which of the following reactions does ammonia act as a reducing

agent?

https://dl.doubtnut.com/l/_ER6xls3OVb33
https://dl.doubtnut.com/l/_8KIoeGRwqCON
https://dl.doubtnut.com/l/_cG1kK4x7yX6y


A. 

B. 

C. 

D. All of these

Answer: 4

Watch Video Solution

4NH3 + 5O2 → 4NO + 6H2O

3NaClO + 2NH3 → 3NaCl + N2 + 3H2O

3CaOCl2 + 2NH3 → 3CaCl2 + N2 + 3H2O

18. Ammonia reacts with red -hot cupric oxide to produce

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

Cu3N2

NO

N2

N2O

https://dl.doubtnut.com/l/_cG1kK4x7yX6y
https://dl.doubtnut.com/l/_bu7NnYHM5kX4


Follow Up Test 6

1. Nitrous oxide is obtained by the thermal decomposition of

A. ammonium carbonate

B. sodium azide

C. microcosmic salt

D. molten ammnium nitrate

Answer: D

Watch Video Solution

2. Dinitrogen oxide is prepared by 

(i) heating a  mixture of hydroxylamine hydrochloride and sodium

nitrite 

(ii) reducing nitric oxide with sulphur dioxide 

1: 1

https://dl.doubtnut.com/l/_bu7NnYHM5kX4
https://dl.doubtnut.com/l/_K2Nyr7BRVClY
https://dl.doubtnut.com/l/_HhGdYD7Id6uu


(iii) the action of cold and dilute nitric acid on zinc metal 

(iv) reducing nirtic acid with stannous chloride and hydrochloric acid.

A. (i), (ii), (iii) and (iv)

B. (i), (ii), (iii)

C. (ii),(iv)

D. (i),(iv)

Answer: 1

Watch Video Solution

3. Which of the following is wrong for nitrogen  oxide?

A. it is used as an anaesthetic in dental surgery

B. It has a bitter taste

C. it is a neutral oxide

D. it is used as a propellant to whip ice cream

(I)

https://dl.doubtnut.com/l/_HhGdYD7Id6uu
https://dl.doubtnut.com/l/_hAQnAKTtQ8Gh


Answer: 2

Watch Video Solution

4. Nitrous oxide reacts with red -hot copper to give

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

Cu3N2

N2O3

N2

NO2

5. Sodium azide is prepared by heating a mixture of

A.  and 

(NaN3)

NaNH2 N2O

https://dl.doubtnut.com/l/_hAQnAKTtQ8Gh
https://dl.doubtnut.com/l/_BrctAEZhbzVX
https://dl.doubtnut.com/l/_X3PEMXgSEWLm


B.  and 

C.  and 

D.  and 

Answer: 1

Watch Video Solution

NaNO2 N2O

Na3PO4 N2O

NH4NO3 NCl3

6. In the molecule the

A.  bond length is greater than  bond length

B.  bond length is shorter than the  bond length

C.  bond length is nearly equal to  bond length

D.  bond length is half of the  bond length

Answer: 2

Watch Video Solution

N2O

N − N N − O

N − N N − O

N − N N − O

N − N N − O

https://dl.doubtnut.com/l/_X3PEMXgSEWLm
https://dl.doubtnut.com/l/_npqcrFortOTe
https://dl.doubtnut.com/l/_ZfpJueRXwwtE


7. Nitric oxide is prepared in the laboratory by

A. the reduction of dilute  with 

B. the catalytic oxidation of ammonia

C. subjecting a mixture of nitrogen and oxygen to an electric spark

D. warming potassiun nitrate with dilute sulphuric acid and ferrous

sulphate solution

Answer: 1

Watch Video Solution

(NO)

HNO3 Cu

8. Which of the following statement is incorrect for nitric oxide ?

A. It does not dimerize

B. it is paramagnetic molecule

C. it is an acid anhydride

(NO)

https://dl.doubtnut.com/l/_ZfpJueRXwwtE
https://dl.doubtnut.com/l/_AMuM5GFi2nB5


D. it is a neutral oxide

Answer: 3

Watch Video Solution

9. The number of valence electrons in nitric oxide is . Among these,one

unpaired electron occupaies a an

A. antibonding  orbital

B. bonding  orbitals

C. bonding  orbitals

D. antibonding  orbitals

Answer: 4

Watch Video Solution

11

/

σ

π

σ

π

https://dl.doubtnut.com/l/_AMuM5GFi2nB5
https://dl.doubtnut.com/l/_0XXpvOrBNbGk


10. The resonating structure of  are represented by

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NO

.
. .

N =
. .

O
. .

: ↔ .

+
. .

N ≡

−
. .

O

:
.

N =
. .

O
. .

↔ :

−
. .

N =

+
.

O :

N =
. .

O : ↔ :N =
. .

O

:N = O : ↔ :N ≡
. .

O

11. Which of the following complexes is responsible for the brown colour

of the ring formed in the ring test for the nitrates?

A. 

B. 

C. 

[Fe(H2O)5NO]
2 +

[Fe(CN)5NO]
2 +

[Fe(H2O)5NO]
3 +

https://dl.doubtnut.com/l/_t2XDkEf6pBVd
https://dl.doubtnut.com/l/_cA5OuJOJjAlV


D. 

Answer: 1

Watch Video Solution

[Fe(CN)5NO]
3 +

12. Which of the following statement is correct regarding the nitric oxide?

(i) It is reduced to hydroxylamine by  


(ii) It is reduced to by  


(iii) It plays an important role in respiration by controlling blood

pressure. 

(iv)  is produced in the brain as messenger molecule of neurons.

A. (i),(ii),(iii)

B. (i),(iv)

C. (ii),(iii)

D. (i),(ii),(iii),(iv)

Answer: 4

SnCl2

N2O SO2

No

https://dl.doubtnut.com/l/_cA5OuJOJjAlV
https://dl.doubtnut.com/l/_2ipp8qLAZph6


Watch Video Solution

13. Nitrogen sesquoxide canbe obtained by cooling (below

)an equimolar mixture of

A.  and  gases

B.  and  gases

C.  and  gases

D.  and  gases

Answer: 3

Watch Video Solution

(N2O3) −30∘C

N2O NO2

N2O NO

NO NO2

N2O N2O4

14. Nitrogen sesquoxide  is a an

A. acidic oxide and the anhydride of hyponitrous acid 

B. acidic oxide and ahydride of nitrous acid

(N2O3 /

(H2N2O2)

https://dl.doubtnut.com/l/_2ipp8qLAZph6
https://dl.doubtnut.com/l/_4RiZoYmuoNFj
https://dl.doubtnut.com/l/_1BUznyWDlDsr


C. basic oxide and anhydride of nitric acid

D. neutral oxide and anhydride of nitric acid

Answer: 2

Watch Video Solution

15.  a red -brown poisonous gas is prepared in the laboratory by

heating

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NO2

NaNO3

NH4NO3

Pb(NO3)2

KNO3

https://dl.doubtnut.com/l/_1BUznyWDlDsr
https://dl.doubtnut.com/l/_p1Pjyc5MLSdN
https://dl.doubtnut.com/l/_DJJSG8NxMxTk


16. which of the following statement is not correct for the nitrogen

dioxide?

A. It is paramagnetic

B. It dimerizes into colourless 

C. It acts as an oxidizing as well as a reducing agent

D. it is a neutral oxide

Answer: 4

Watch Video Solution

N2O4

17. In the formation of the dimer from two molecules of the

odd electron on each of the  atoms of the  molecule gets paired to

form a

A. strong  bond and all the four  bonds become

equivalent

N2O4 NO2

N NO2

N − N N − O

https://dl.doubtnut.com/l/_DJJSG8NxMxTk
https://dl.doubtnut.com/l/_DsjClFn8rXjm


B. weak  bond and all the four  bonds become

equivalent

C. weak  bonds and all the four  bonds become

nonequivalent

D. weak  bonds, two  bonds become equivalent and the

other two  bonds become nonequivalent.

Answer: 2

Watch Video Solution

N − N N − O

N − N N − O

N − N N − O

N − O

18.  reacts with  to give

A. 

B. 

C. 

D. 

NO2 F2

NO

NO2F2

NO2F

N2F2

https://dl.doubtnut.com/l/_DsjClFn8rXjm
https://dl.doubtnut.com/l/_ecgvOdzgH67n


Answer: 3

Watch Video Solution

19. Liquid is a useful nonaqueous solvent in which

A. both  and  salts are acids

B. both  and  salts are bases

C.  salts are acids and  salts are bases

D.  salts are bases and  salts are acids.

Answer: 3

Watch Video Solution

N2O4

NO+ NO−
3

NO+ NO−
3

NO+ NO−
3

NO+ NO−
3

20. Dinitrogen pentoxide ,a colourless deliquescentsolid is ,prepared by

https://dl.doubtnut.com/l/_ecgvOdzgH67n
https://dl.doubtnut.com/l/_X45RxYW5Lopr
https://dl.doubtnut.com/l/_iW1XKMQRfWMj


A. reaction  with an excess of oxygen 


B. dehydrating  with  at a high temperature 


C. dehydrating  with  at a high temperature 


D. reacting  with 

Answer: 2

Watch Video Solution

NH4NO3

(NH4NO3 + 2O2 → N2O5 + 2H2O)

HNO3 P4O10

(4HNO3 + P4O10 → 4HPO3 + 2N2O5)

HNO3 CaO

(2HNO3 + CaO → N2O5 + Ca(OH)2)

NaNO3

N2O4(NaNO3 + N2O4 → N2O5 + NaNO2)

21. Which of the following statement is correct?

A.  is an ionic solid and is represented by  (

nitronium nitrate).

N2O5 NO+
2 NO−

3

https://dl.doubtnut.com/l/_iW1XKMQRfWMj
https://dl.doubtnut.com/l/_sHVDd1hFpXhy


B. The  has a pyramidal shape

C. The  has a -Shape

D. Nitronium ion  is isoelectronic with  and both have

similar -shaped structures

Answer: 1

Watch Video Solution

NO−
2

NO−
3 T

(NO+
2 ) CO2

V

22. Which of the following is incorrect for nitrogen pentoxide?

A. In the gas phase,  decomposes with explosion into 

and 

B. It reacts with concentrated  to produce 

C. It is relatively inert

D. It acts as a strong oxidising agent

Answer: 3

N2O5 NO, NO2

O2

H2SO4 NO+
2

https://dl.doubtnut.com/l/_sHVDd1hFpXhy
https://dl.doubtnut.com/l/_Md6X7bElZ9SJ


Follow Up Test 7

Watch Video Solution

1. Pure nitric acid on is a colourless liquid, but on exposure to sunlight it

turns slightly brown, due to

A. the formation of  and 

B. the formation of 

C. slight decomposition into  and 

D. slight decomposition into  and 

Answer: 3

Watch Video Solution

H3O
+ NO+

3

N2O

NO2 O2

N2O O2

2. Which of the following combinations is used to prepare nitric acid in

the laboratory?

https://dl.doubtnut.com/l/_Md6X7bElZ9SJ
https://dl.doubtnut.com/l/_LWVfAOeNn1wn
https://dl.doubtnut.com/l/_IUrnoYkEdZhf


A.  and conc. 

B.  and 

C.  and 

D.  and conc. 

Answer: 1

Watch Video Solution

NaNO3 H2SO4

N2 O2

NH3 O2

NaNO2 H2SO4

3. At present, nitric acid is industrially prepared by the

A. Haber process

B. Birkeland-Eyde process

C. Ostwald process

D. Contact process

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_IUrnoYkEdZhf
https://dl.doubtnut.com/l/_iaUg1OgB76YQ


4. Laboratory grade concentrated nitric acid is a  azeotropic mixture

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

____

50 %

68 %

98 %

33 %

5. Iron reacts with very dilute nitric acid to produce

A. 

B. 

C. 

NH4NO3

N2O

NO

https://dl.doubtnut.com/l/_iaUg1OgB76YQ
https://dl.doubtnut.com/l/_cCPNkHF7fXqq
https://dl.doubtnut.com/l/_2Ah2XBesH4he


D. 

Answer: 1

Watch Video Solution

NO2

6. Which fo the following metal is rendered passive by the action of highly

concentrated nitric acid (~80%)?

A. 

B. 

C. 

D. All of these

Answer: 4

Watch Video Solution

Fe

Al

Ni

https://dl.doubtnut.com/l/_2Ah2XBesH4he
https://dl.doubtnut.com/l/_ukna8giKTvhb


7. Aqua regia is a mixture of

A. equal volumes of conc.  and conc. 

B. one volume of conc.  and three volumes of conc. .

C. Three volumes of conc.  and one volume of conc. .

D. one volume of conc.  and two volumes of conc. 

Answer: C

Watch Video Solution

HCl HNO3

HCl HNO3

HCl HNO3

HCl HNO3

8. Which of the following is the active species in the nitration of aromatic

organic compounds ?

A. 

B. 

C. 

D. 

NO−
3

NO+
2

NO+

NO−
2

https://dl.doubtnut.com/l/_RpPTIZnfKNns
https://dl.doubtnut.com/l/_n5d70UL7aIme


Answer: 2

Watch Video Solution

9. Which of the following is not an explosive?

A. Cyanamide

B. Dynamite

C. 

D. 

Answer: 1

Watch Video Solution

TNT

TNG

10. Which of the following is not correct in the context of the  ions?

A. The bond order of each  bond is 

NO−
3

N − O 4/3

https://dl.doubtnut.com/l/_n5d70UL7aIme
https://dl.doubtnut.com/l/_s4e5MUY0Dxad
https://dl.doubtnut.com/l/_AZ873dYu9yHD


B. The bond order of each  bond is 

C. The geometry and shape of the  ion is planar triangular

D. All the three oxygen atoms are equivalent

Answer: 2

Watch Video Solution

N − O 3/2

NO−
3

11. Reduction of in an alkaline medium gives

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

H2

NO2

NH3

NO

https://dl.doubtnut.com/l/_AZ873dYu9yHD
https://dl.doubtnut.com/l/_RgFq4xbDGzVZ


Follow Up Test 7

Follow Up Test 8

1. Which of the following is incorrect regarding concentrated nitric acid?

A. Sulphur is oxidised by conc.  to sulphuric acid

B. Carbon on treatment with conc.  yields 

C. Phosphorus reacts with conc.  to yield orthophosphoric acid

D. Iodine is oxidized by conc.  to periodic acid

Answer: 4

Watch Video Solution

HNO3

HNO3 NO2 + CO2 + H2O

HNO3

HNO3

1. Phosphorus is obtained by reducing

A. phophatic fertilizers with boron and alumina in an electric furnance

https://dl.doubtnut.com/l/_hMrc6qtHeNPe
https://dl.doubtnut.com/l/_WePnA0bISdrt


B. phosphate rock with silica and iron oxide in an electric furnace

C. phosphate rock with coke at a high temperature in the presence of

silica in an electric furnance

D. phosphate rock with sulphur and alumina.

Answer: 3

Watch Video Solution

2. White phosphorus exists as

A.  molecules

B.  molecules

C.  molecules

D.  molecules

Answer: 2

Watch Video Solution

P8

P4

P2

P6

https://dl.doubtnut.com/l/_WePnA0bISdrt
https://dl.doubtnut.com/l/_K0SFPxugQJXd


3. White phosphorus is kept under

A. water

B. Kerosene oil

C. ethanol

D. conc. 

Answer: 1

Watch Video Solution

HNO3

4. When exposed to ultraviolet radiatoin ( for example, from fluorescent

lights), the white phosphorus slowly turns to

A. black 

B. yellow 

C. Violet 

P

P

P

https://dl.doubtnut.com/l/_K0SFPxugQJXd
https://dl.doubtnut.com/l/_yZpwUGUbR48n
https://dl.doubtnut.com/l/_HlrSwkGhKO8A


D. red 

Answer: 4

Watch Video Solution

P

5. In which of the following properties does white phosphorus resemble

red phosphorus?

A. Reaction with hot  soln.

B. Phosphorescence

C. Solubitlity in organic solvents

D. Burning of air

Answer: 4

Watch Video Solution

NaOH

https://dl.doubtnut.com/l/_HlrSwkGhKO8A
https://dl.doubtnut.com/l/_tgOe6XhRfh6j


Follow Up Test 9

6. Which of the following allotropes of P has a graphite like layer

structure and is an electrical conductor?

A. Black 

B. White 

C. Red 

D. Violet 

Answer: 1

Watch Video Solution

P

P

P

P

1. Which of the following reactions does not yield phosphine?

A. Hydrolysis of calcium phosphide

B. Hydrolysis of White phosphorous with  solutionNaOH

https://dl.doubtnut.com/l/_4ABfwb5ZPWCb
https://dl.doubtnut.com/l/_K57mbZiMvdLU


C. Heating an concentrated solution of sodium hydroxide with red

phosphorus

D. Boiling  with water

Answer: 3

Watch Video Solution

P4O6

2. Which of the following is the correct statement for ?

A. It is extermely soluble in water

B. it is less basic then 

C. It does not show reducing properties

D. it is nontoxic

Answer: 2

Watch Video Solution

PH3

NH3

https://dl.doubtnut.com/l/_K57mbZiMvdLU
https://dl.doubtnut.com/l/_And8hUx86m4p
https://dl.doubtnut.com/l/_YGtkoHCXRZD0


3. Which of the following is correct?

A. When aluminium of phosphide is treated with dil. Sulphuric acid

 is evolved

B.  forms 

C. one mole of calcium phosphide on reaction with excess of water

gives two moles of phoshine

D. All of these

Answer: 4

Watch Video Solution

PH3

PH4I + NaOH PH3

4. Phosphorus trichloride can be obtained from white phosphorus by the

action of

A. 

B. 

Cl2

SOCl2

https://dl.doubtnut.com/l/_YGtkoHCXRZD0
https://dl.doubtnut.com/l/_5RU8Hnjs5I5z


C. 

D. Both (1) and (2)

Answer: 4

Watch Video Solution

SO2Cl2

5.  fumes in moist air on account of

A. disproportionation

B. hydrolysis

C. oxidation

D. reduction

Answer: 2

Watch Video Solution

PCl3

https://dl.doubtnut.com/l/_5RU8Hnjs5I5z
https://dl.doubtnut.com/l/_FnvnAobFcwlq


6. Phosphorus trichloride reacts with sulphur monochloride to yield

A. 

B. 

C. 

D. Both (1) and (2)

Answer: 1

Watch Video Solution

PCI5

PSCI3

P2S3

7. Which of the following is incorrect about phosphorus trichloride?

A. It is widely used in organic chemistry to convert carboxylic acids to

alkyl chlorides.

B. It is oxidized by  or  to give phosphorus oxochloride

C. it is an unsaturated compound

O2 P4O10

https://dl.doubtnut.com/l/_NKiSJ6SlWkUU
https://dl.doubtnut.com/l/_DvzUFTbWzSkO


D. it acts as a reducing agent

Answer: 1

Watch Video Solution

8. When  is heated

A. it decomposes

B. it melts

C. it sublimes

D. both (1) and (2)

Answer: 4

Watch Video Solution

PCl5

9. The hydrolytic reaction of  in heavy water yieldsPCl5

https://dl.doubtnut.com/l/_DvzUFTbWzSkO
https://dl.doubtnut.com/l/_yjnFbsWMgSfU
https://dl.doubtnut.com/l/_gpD8Xl0ql1Up


A. 

B. 

C. 

D. All of these

Answer: 4

Watch Video Solution

POCl3

DCl

D3PO4

10. Phosphorus pentachloride is ionic in

A. vapour state

B. liquid state

C. solid state

D. all the three states

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_gpD8Xl0ql1Up
https://dl.doubtnut.com/l/_xa0qvD6edu3D


Follow Up Test 10

1. Which of the following name-formula combinations is wrongly matched

A. Metaphosphoric acid 

B. Pyrophosphoric acid 

C. Pyrophosphoric acid 

D. Orthophosphoric acid 

Answer: 4

Watch Video Solution

→ (HPO3)n

→ H4P2O7

→ H4P2O5

→ H3PO3

2. Which of the following oxoacide of phosphorus is a reducing agent and

a monobasic acid as well?

A. Orthophosphorous acid (H3PO3)

https://dl.doubtnut.com/l/_xa0qvD6edu3D
https://dl.doubtnut.com/l/_tc6301i6as10
https://dl.doubtnut.com/l/_EOxsiOWZEwwo


B. Orthophosphoric acid 

C. Hypophosphorous acid 

D. Cyclotrimetaphosphoric acid, 

Answer: 3

Watch Video Solution

(H3PO4)

(H3PO2)

(HPO3)3

3. The number of  bonds in cyclotrimetaphosphoric acid, 

 is

A. six

B. three

C. two

D. four

Answer: B

Watch Video Solution

P − O − P

(HPO3)3

https://dl.doubtnut.com/l/_EOxsiOWZEwwo
https://dl.doubtnut.com/l/_bnzxAKQmdvqM


4. All phosphates give a bright yellow precipitate of  when dissolved

in nitric acid and warmed ( not boiled ) with an excess of ammonium

molylbdate solution

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

_____

(NH4)3PO4.12MoO3

(NH4)3PO4.11MoO3

(NH4)3PO4.10MoO3

(NH4)3PO4.14MoO3

5. Phosphates can be estimated quantitatively by precipitating them as

A. 

B. 

Ca3(PO4)2

AlPO4

https://dl.doubtnut.com/l/_bnzxAKQmdvqM
https://dl.doubtnut.com/l/_AzvtXXZeF0eW
https://dl.doubtnut.com/l/_HKaNhUziEbgT


C. 

D. 

Answer: 4

Watch Video Solution

Mg3(PO4)2

MgNH4PO4

6. Which of the following oxoacids of phosphorus contains a 

bond?

A. Hypophosphoric acid

B. Pyrophosporic acid

C. Pyrophosphorous acid

D. Polymetaphosporic acid

Answer: 1

Watch Video Solution

P − P

https://dl.doubtnut.com/l/_HKaNhUziEbgT
https://dl.doubtnut.com/l/_L26X3wK8UFar


Follow Up Test 11

1. Group 16 element (except polonium ) are called chalcogens because

A. a large number of acids contain these elements paticularly oxygen

and sulphur

B. these element of particularly  and  are present in many metallic

ores mainly as oxide and sulphides

C. all these elements exhibits allotropy

D. these element mainly form anions.

Answer: 2

Watch Video Solution

O S

2. About  by mass of the atmosphere consists of dioxygen

A. 

______

23 %

https://dl.doubtnut.com/l/_PgN6Ov6PIqdB
https://dl.doubtnut.com/l/_oXDdpoWBR3dU


B. 

C. 

D. 

Answer: 1

Watch Video Solution

21 %

20 %

25 %

3. The most abundant group 16 element in the earth's crust is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

Po

S

Se

O

https://dl.doubtnut.com/l/_oXDdpoWBR3dU
https://dl.doubtnut.com/l/_4HZifxvVDonb
https://dl.doubtnut.com/l/_9LUygKYkowXC


4. Which of the following is called Epsom salt?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

BaSO4

CaSO4.2H2O

MgSO4.7H2O

Na2SO4

5. The chemistry of polonium is not well known because

A. it is difficult to extract

B. it is very scarce

C. it is highly reactive

D. it iis radioactive

https://dl.doubtnut.com/l/_9LUygKYkowXC
https://dl.doubtnut.com/l/_UkoVpgfu5eK3


Answer: 4

Watch Video Solution

6. The mixture covalence of oxygen is

A. two

B. four

C. Three

D. six

Answer: 2

Watch Video Solution

7. Which of the following element exhibits the strongest tendncy to from

bonds.

https://dl.doubtnut.com/l/_UkoVpgfu5eK3
https://dl.doubtnut.com/l/_aYrpWu1qXGRk
https://dl.doubtnut.com/l/_WswnPfO18iiP


Follow Up Test 12

A. 

B. 

C. 

D. 

Answer: 3

View Text Solution

O

S

Se

Te

1. Pure  is prepared by the action of concentrated  on

A. 

B. 

C. 

D. 

H2S HCl

FeS2

FeS

Sb2S3

Ag2S

https://dl.doubtnut.com/l/_WswnPfO18iiP
https://dl.doubtnut.com/l/_EXgRVOa6xa49


Answer: 3

Watch Video Solution

2. Which of the following is incorret about hydrogen sulphide?

A. it is a coloured gas with the smell of rotton eggs

B. it Is very poisonous

C. it is sligtly heavier than air and fairly solublein water

D. its molecules is -shaped

Answer: 1

Watch Video Solution

V

3.  can form

A. four series of salt

H2S

https://dl.doubtnut.com/l/_EXgRVOa6xa49
https://dl.doubtnut.com/l/_tGQNWMSf3U08
https://dl.doubtnut.com/l/_KvZ8lWOCci7m


B. two series of salt

C. only one series of salts

D. three series of salt

Answer: 2

Watch Video Solution

4. Which of the following sulphides is soluble in water?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

As2S3

Sb2S3

CuFeS2

Al2S3

https://dl.doubtnut.com/l/_KvZ8lWOCci7m
https://dl.doubtnut.com/l/_bhVt8r3X4EFX
https://dl.doubtnut.com/l/_skrHeNjdyejj


5. Which of the following gases is used for separating metal ions into

respective groups in qualitative inorganic analysis?

A. 

B. 

C. 

D. both (2) and (3)

Answer: 1

Watch Video Solution

H2S

SO2

SO3

6. Hydrogen sulphide reacts with salts of various metals forming

corresponding sulphides. Which of the following sulphides is precipited

in acidic medium?

A. 

B. 

Co

Mn

https://dl.doubtnut.com/l/_skrHeNjdyejj
https://dl.doubtnut.com/l/_L1bcLg0E4yCQ


C. 

D. 

Answer: 4

Watch Video Solution

Fe

Cu

7. Which of the following statements is wrong?

A. the bond angle in  is 

B.  behaves both as an oxidizing as well as a reducing agent

C.  is a diprotic acid

D.  is a stronger acid than 

Answer: B

Watch Video Solution

H2S 92∘

H2S

H2S

H2S H2O

https://dl.doubtnut.com/l/_L1bcLg0E4yCQ
https://dl.doubtnut.com/l/_udxP7xIAyzlq


8. Which of the following orders is incorret?

A.  (thermal stability)

B.  (acidic stability)

C.  (boiling point)

D.  (dipole stability)

Answer: 3

Watch Video Solution

H2O > H2S > H2Se > H2Te

H2O < H2S < H2Se < H2Te

H2Te > H2O > H2S > H2Se

H2O > H2S > H2Se > H2Te

9. Which of the following gases turns lead acetate paper black?

A. 

B. 

C. 

D. 

H2S

SO2

SO3

H2Se

https://dl.doubtnut.com/l/_kk0FmdvQ9Hyf
https://dl.doubtnut.com/l/_QPbMzg8zuRiE


Answer: 1

Watch Video Solution

10. Sulphur dioxide is produced commercially on a vast scale by

A. burning sulphur in air

B. buring hydrogen sulphide in air

C. roasting various metal sulphides

D. All of these

Answer: 4

Watch Video Solution

11. Sulphur dioxide is a an  oxide.

A. amphoteric

/ _____

https://dl.doubtnut.com/l/_QPbMzg8zuRiE
https://dl.doubtnut.com/l/_r2axs1rpwG1y
https://dl.doubtnut.com/l/_GBAAGUcEP5Ih


B. acidic

C. basic

D. neutral

Answer: 2

Watch Video Solution

12. Which of the following is agas at room temperature?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

PoO2

TeO2

SeO2

SO2

https://dl.doubtnut.com/l/_GBAAGUcEP5Ih
https://dl.doubtnut.com/l/_yGGLjM8vnPad
https://dl.doubtnut.com/l/_EAdwMpQ7L9yD


13. Which of the following is a reducing agent?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

SeO2

TeO2

SO2

PoO2

14. Which of the following exists as a cyclic tetramer in the solid state?

A. 

B. 

C. 

D. 

SO3

SeO3

TeO3

PoO3

https://dl.doubtnut.com/l/_EAdwMpQ7L9yD
https://dl.doubtnut.com/l/_BuNIo4taXQwe


Answer: 2

Watch Video Solution

15. Which of the following compounds is exceptionally stable for steric

reasons?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

SF4

TeF6

SF6

SeF6

16. Which of the following undergoes disproportionation?

https://dl.doubtnut.com/l/_BuNIo4taXQwe
https://dl.doubtnut.com/l/_rBkLGZFKB5bB
https://dl.doubtnut.com/l/_IeSIDZqiyzq9


Follow Up Test 13

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

SCl2

SF4

S2F10

S2Cl2

1. Dioxygen present in the atmosphere is believed to be produced by

A. photosynthesis

B. irradiation

C. thermolysis

D. electroysis

https://dl.doubtnut.com/l/_IeSIDZqiyzq9
https://dl.doubtnut.com/l/_yNdLh3Dvv2zz


Answer: 1

Watch Video Solution

2. Which of the following gives dioxygen and metal on heating?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

BaO2

Ag2O

MnO2

Pb3O4

3. Dioxygen is not evolved when conc.  reacts with

A. 

H2SO4

MnO3

https://dl.doubtnut.com/l/_yNdLh3Dvv2zz
https://dl.doubtnut.com/l/_WDLcpTCMAMRV
https://dl.doubtnut.com/l/_qQxcGMRjpIwN


B. 

C. 

D. 

Answer: B

Watch Video Solution

CuSO4

KMnO4

K2Cr2O7

4. Which of the following is incorrect ?

A. During the fractional distillation of liquids air the components

coming or first is 

B. Liquid oxygen is an oxidizer in rockets and missles

C. Dioxygen can be obtained form bleaching powered by heating with

a cobalt salt.

D.  is called the dioxygenyl ion

Answer: 1

O2

O+
2

https://dl.doubtnut.com/l/_qQxcGMRjpIwN
https://dl.doubtnut.com/l/_u7O9Ljlim1Fo


Watch Video Solution

5. Which of the following is not a compound oxide?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

Pb3O4

Al2O3

Fe3O4

Mn3O4

6. Which of the following is not a true peroxide?

A. 

B. 

C. 

BaO2

MnO2

PbO2

https://dl.doubtnut.com/l/_u7O9Ljlim1Fo
https://dl.doubtnut.com/l/_oKPIoNDmlNkh
https://dl.doubtnut.com/l/_ix47OQ3AWjT3


D. Both (2) and (3)

Answer: 4

Watch Video Solution

7. Which of the following oxides is not a mixed anhydride?

A. 

B. 

C. Both (1)and (2)

D. 

Answer: 4

Watch Video Solution

NO2

P4O8

N2O3

8. Which of the metallic oxides is not an acidic oxide?

https://dl.doubtnut.com/l/_ix47OQ3AWjT3
https://dl.doubtnut.com/l/_ZqiiAC3tn2nN
https://dl.doubtnut.com/l/_tK8kEWYrAaUL


A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

CrO3

Mn2O7

V2O3

V2O5

9. Which of the following is not an amphoteric oxide?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

PbO2

PbO

BeO

BaO

https://dl.doubtnut.com/l/_tK8kEWYrAaUL
https://dl.doubtnut.com/l/_Cnk767RShfeH


10. Which of the following is not a neutral oxide?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

Al2O3

CO

N2O

NO

11. Ozone is formed in the  by the action of intense ultraviolet light

on oxygen

A. troposphere

B. lithosphere

C. stratosphere

______

https://dl.doubtnut.com/l/_Cnk767RShfeH
https://dl.doubtnut.com/l/_0Lb0zy0DWSYn
https://dl.doubtnut.com/l/_YdtFieHOn4oB


D. mesosphere

Answer: 3

Watch Video Solution

12. When a slow dry stream of dioxygen is passed through a silent

electrical discharge up to  per cent conversion to ozone occurs.

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

_____

15

5

10

20

https://dl.doubtnut.com/l/_YdtFieHOn4oB
https://dl.doubtnut.com/l/_GbKEqQCrjnoL


13. Which of the following is incorrect for ozone ?

A. it is a pale blue gas with a characteristics strong smell

B. it can be liquified (at  ) to a dark blue liquid and solified

(at  ) to yield violet black crystals.

C. it is thermodynamically unstable

D. it is paramagnetic is nature

Answer: 4

Watch Video Solution

−112.4∘C

−248∘C

14. Ozone reacts with neutral KI solution to yield

A. 

B. 

C.  and 

I2

O2

I2 O2

https://dl.doubtnut.com/l/_zkBbEdGne4TT
https://dl.doubtnut.com/l/_DzDalBo2K9ST


D.  and 

Answer: D

Watch Video Solution

KOH, I2 O2

15. In the presence of water, sulphur is oxidized by ozone to yield

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

SO3

H2SO4

SO2

H2SO3

16. Which of the following is incorrect regarding ozone?

https://dl.doubtnut.com/l/_DzDalBo2K9ST
https://dl.doubtnut.com/l/_tdjnux77lPI9
https://dl.doubtnut.com/l/_HOB7xCSbSM9Y


A. it is oxidized  to 

B. it oxidized alkaline  to potassium iodate or to potasium

periodate depending upon the amount

C. its oxidizes dry iodine to  a yellow power

D. silver metal is blackened by ozone.

Answer: 1

Watch Video Solution

H2S SO2

KI

I4O9

17. Ozone reach with KOH solution to yield

A. 

B. 

C. 

D. 

Answer: 4

K2O

KO2

K2O2

KO3

https://dl.doubtnut.com/l/_HOB7xCSbSM9Y
https://dl.doubtnut.com/l/_T820AEdUlWiF


Watch Video Solution

18. Which of the following is incorrect regarding ozone?

A. At room temperature ozone is absorbed by turpentine oil and oil of

cinnamon

B. Ozone truns an alchoholic solution of tetramethyl base violet

C. Ozone truns starch iodine paper blue ( in absence ofo ferrous

sulphate) due to the liberation fo .

D. Ozone adds to unsatured organic compounds at room temperature

forming ozonic

Answer: 4

Watch Video Solution

I2

19. Ozone is used as a an/

https://dl.doubtnut.com/l/_T820AEdUlWiF
https://dl.doubtnut.com/l/_WFROff2l7Z49
https://dl.doubtnut.com/l/_Drdv1tn8SKxO


A. bleaching agent

B. oxidizing agent

C. deisnfectant

D. All of these

Answer: 4

Watch Video Solution

20. The amount ozone in a gas mixture may be determined by passing the

gas into a  solution buffered with a borate buffer (pH 9.2).

A. 

B. 

C. 

D. 

Answer: 3

_____

KI3

KIO3

KI

KIO4

https://dl.doubtnut.com/l/_Drdv1tn8SKxO
https://dl.doubtnut.com/l/_7bwbOGhZuKux


Follow Up Test 13 S

Follow Up Test 14

Watch Video Solution

1. Dioxygen gas is usually obtained in the laboratory by the thermal

decomposition of

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

KNO3

KMnO3

KCIO3

(NH4)2Cr2O7

https://dl.doubtnut.com/l/_7bwbOGhZuKux
https://dl.doubtnut.com/l/_LX3lW0PXD4rg
https://dl.doubtnut.com/l/_TRRqZ8ZFIzwY


1. Which of the following allotropes of sulphur exists as an  molecule

having the chair conformation?

A.  -sulphur

B.  -sulphur

C.  -sulphur

D.  -sulphur

Answer: 4

Watch Video Solution

S6

α

β

γ

ε

2. In the cyclo  molecule of rhombic sulphur, all the  bond

lengths and all the  bond angle are  (approximate values

) respectively

A. pm and 

B. pm and 

C. pm and 

−S8 S − S

S − S − S _____

204 105∘

204 107∘

102 102∘

https://dl.doubtnut.com/l/_TRRqZ8ZFIzwY
https://dl.doubtnut.com/l/_ymXexx555KHN


D. pm and 

Answer: 2

Watch Video Solution

102 106∘

3. On heating the viscosity of liquid sulphur are

A. incrases

B. decreases

C. first increasea and then decreases

D. first decrease and the n increase

Answer: 2

Watch Video Solution

4. Plastic or sulphur is obtained by pouring liquid sulphur intoχ −

https://dl.doubtnut.com/l/_ymXexx555KHN
https://dl.doubtnut.com/l/_tehBbfCnTxEX
https://dl.doubtnut.com/l/_lEfyxkZIYGDE


A. water

B. ethanol

C. 

D. benzene

Answer: 1

Watch Video Solution

CS2

5. Underground sulphur is extracted (recovered) by the

A. Clause process

B. Frasch process

C. Dow's process

D. Kolbe process

Answer: 2

Watch Video Solution

https://dl.doubtnut.com/l/_lEfyxkZIYGDE
https://dl.doubtnut.com/l/_EQ2cgPj1OOhP


6. Which of the following is incorret regarding sulphur dioxide?

A. it is a coloured ,poisionous gas with a very pungant suffoacting

odour.

B. it is a heavier than air

C. it is almost insoluble in water

D. it can be easily liquefied to a colorless liquid at  and into a

snowlike solids at 

Answer: 3

Watch Video Solution

−10∘C

−76∘C

7. Sulphur dioxide neither burns nor it helps in burning. However, burning

-continue to burn in its atmosphere.

A. Mg

https://dl.doubtnut.com/l/_EQ2cgPj1OOhP
https://dl.doubtnut.com/l/_06MNtbPWfBoA
https://dl.doubtnut.com/l/_y2N3YxqdIdJ5


B. 

C. 

D. Both (1) and (2)

Answer: 4

Watch Video Solution

K

Cu

8. Sulphur dioxide decomposes at  producing

A.  and 

B.  and 

C.  and 

D.  and 

Answer: 3

Watch Video Solution

1200∘C

S O2

S O3

SO3 S

SO3, S O

https://dl.doubtnut.com/l/_y2N3YxqdIdJ5
https://dl.doubtnut.com/l/_cq0bnCXZCoXX
https://dl.doubtnut.com/l/_NNkozalCpU7k


9. When  is passed into an  solution, it produces

A.  and 

B.  and 

C.  and 

D. 

Answer: 2

Watch Video Solution

SO2 Na2CO3

NasO3 CO2

NaHSO4 CO2

NaSO3, NaHSO3 CO2

H2SO4

10. Sulphur dioxide reacts with chlorine in the pressure of charcoal

(Which acts as a catalyst) to give

A. thionyl chloride

B. sulphur dichloride and oxygen

C. sulphuryl chloride

D. chlorine monoxide and sulphur

https://dl.doubtnut.com/l/_NNkozalCpU7k
https://dl.doubtnut.com/l/_EHK2L4d3wIO1


Answer: C

Watch Video Solution

11. Sulphur dioxide can't act as a an

A. dehydrating agent

B. oxidizing agent

C. reducing agent

D. bleaching agent

Answer: 1

Watch Video Solution

/

12. Sulphur acid, considered to be the King of chemicals, is mainly

manufacture by the

https://dl.doubtnut.com/l/_EHK2L4d3wIO1
https://dl.doubtnut.com/l/_kCe3IfbfnH6U
https://dl.doubtnut.com/l/_qgq5dyobqlgf


A. Lead chamber process

B. Contact process

C. Ostwald process

D. Bikelend -Eyde process

Answer: 2

Watch Video Solution

13. Concentrated  can't act as a an

A. reducing agent

B. oxidizing agent

C. dehydrating agent

D. drying agent

Answer: 1

Watch Video Solution

H2SO4 /

https://dl.doubtnut.com/l/_qgq5dyobqlgf
https://dl.doubtnut.com/l/_quTTVK6xQM7K


Follow Up Test 15

14. Which of the following in incorrect?

A.  reach with  to produces 

B.  reacts with concentrated  to produces 

C. Solid  on heating with concentrated  produces 

D.  forms  on treatment with phosphorous pentoxides

Answer: 2

Watch Video Solution

H2SO4 PCl5 SO2Cl2

K4[Fe(CN)6] H2SO4 CO2

KCIO3 H2SO4

CIO2

H2SO4 SO3

1. which of the following element of Group  shows radio-activity?

A. Astatine

17

https://dl.doubtnut.com/l/_quTTVK6xQM7K
https://dl.doubtnut.com/l/_lifVXbP0zrmo
https://dl.doubtnut.com/l/_yFdHPim13UuP


B. Iodine

C. Bromine

D. Chlorine

Answer: 1

Watch Video Solution

2. In which of the following pairs of halgens do the members resemble

each other more closely in their properties?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: 2

Watch Video Solution

Cl I

CI Br

Br At

F CI

https://dl.doubtnut.com/l/_yFdHPim13UuP
https://dl.doubtnut.com/l/_9fSX9kRflbID


3. The main source of fluorine is the mineral

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

Na2AIF6

CaF2.3Ca3(PO4)2

CaF2

NaF

4. Fluorine is prepared by the electrolysis of

A. molten cryolite

B. fused 

C. anhydrous 

D. a solution of  in 

KF

HF

KHF2 HF

https://dl.doubtnut.com/l/_9fSX9kRflbID
https://dl.doubtnut.com/l/_4NHZ3xFGJPtG
https://dl.doubtnut.com/l/_vEBoJQt3UWdz


Answer: 4

Watch Video Solution

5. Bromine is commercially produced by the oxidation of bromide ions in

natural brine with

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

CI2

F2

I2

O2

6. Iodine is obtained commercially from Chile saltpetre through the

reaction

https://dl.doubtnut.com/l/_vEBoJQt3UWdz
https://dl.doubtnut.com/l/_gmuraM685zAD
https://dl.doubtnut.com/l/_VDxLHyQCjaVe


A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

2KI + Cl2 → I2 + 2KCl

IO− + 5I − + 6H + → 3I2 + 3H2O

2IO−
3 + 5HSO−

3 → 3HSO
−
4 + 2SO2 −

4 + H2O + I2

2I − + H2O2 → I2 + 2OH −

7. Which of the folllowing is the correct order of electron affinity?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

At < I < Br < F < Cl

At < I < Br < Cl < F

At < I < Cl < Br < F

At < Br < I < Cl < F

https://dl.doubtnut.com/l/_VDxLHyQCjaVe
https://dl.doubtnut.com/l/_PtIDIAqegROT


8. Which of the following is the correct order of bond dissociation

enthalpy?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

I2 < Br2 < Cl2 < F2

I2 < Cl2 < Br2 < F2

I2 < F2 < Br2 < Cl2

I2 < Br2 < F2 < Cl2

9. Which of the following has the highest melting and boiling points ?

A. 

B. 

C. 

F2

I2

Cl2

https://dl.doubtnut.com/l/_PtIDIAqegROT
https://dl.doubtnut.com/l/_nIBLc7naGYnK
https://dl.doubtnut.com/l/_oHmcGNdvF6Ma


Follow Up Test 16

D. 

Answer: 2

Watch Video Solution

Br

10. Which of the following halogens is the most reactive?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

Cl2

Br

I2

F2

https://dl.doubtnut.com/l/_oHmcGNdvF6Ma
https://dl.doubtnut.com/l/_4x2srzOMYQrX
https://dl.doubtnut.com/l/_49QdLtnKex3v


1. Which of ht efollowing is wrong for hydrogen fluoride?

A. it has low dielectric constant and high visosity

B. the conductivity of pure  is comparable with that of pure water

C. although  is a weak acid in water the strength of anhydrous 

 is comparable with that of anhydrous 

D.  acids as the strong acid in reaction where  acts like a

base

Answer: 1

Watch Video Solution

HF

HF

HF H2SO4

HF HNO3

2. Which of the following acids is used to manufactrure glass shell of

television tubes?

A. 

B. 

HCl

HBr

https://dl.doubtnut.com/l/_49QdLtnKex3v
https://dl.doubtnut.com/l/_wfqWzGLoDtlH


C. 

D. 

Answer: 3

Watch Video Solution

HF

HI

3. Which of the following acids is usually used for the preparation of

 ,and  form  respectively?

A.  (glacial)

B.  (conc.)

C.  (syrupy)

D.  (anhydrous)

Answer: 3

Watch Video Solution

HBr HI NaBr, Kl

CH3CO2H

H2SO4

H3PO4

HF

https://dl.doubtnut.com/l/_wfqWzGLoDtlH
https://dl.doubtnut.com/l/_0lLSg8Sy9xBK
https://dl.doubtnut.com/l/_9oNWE0OXZ8WY


4. Which of the following order is incorrect?

A.  (density)

B.  (boiling point )

C.  (melting point )

D.  ( reducing agent)

Answer: 3

Watch Video Solution

HF < HCl < HBr < HI

HCl < HBr < HI < HF

HCl < HBr < HI < HF

HF < HCl < HBr < HI

5. Oxygen difluoride , a pale yellow gas ,is prepared by passing 

into

A. concentrated  solution

B. concentrated  solution

C. dilute  solutions

D. dilute  solution

(OF ) F2

NH3

NaOH

NaOH4

NaOH

https://dl.doubtnut.com/l/_9oNWE0OXZ8WY
https://dl.doubtnut.com/l/_ANuqYp6VnSDl


Answer: 4

Watch Video Solution

6. Dichlorine monoxide  a yellow -brown gas ,dissolves in

solution forming?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

(Cl2O) NaOH

NaCIO2

NaCIO

NaCIO2

NaCIO4

7. Dichlorine monoxide  is prepared by heating freshly

precipitated (Yeallow)-with  gas dilute with dry air.

(Cl2O)

Cl2

https://dl.doubtnut.com/l/_ANuqYp6VnSDl
https://dl.doubtnut.com/l/_w4djOgdQfQNU
https://dl.doubtnut.com/l/_rkYZgj2vjbHp


A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

HgO

PbO

CuO

MnO

8. Chlorine dioxide reacts with ozone to yield

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

Cl2O7

Cl2O6

CIO3

CIO

https://dl.doubtnut.com/l/_rkYZgj2vjbHp
https://dl.doubtnut.com/l/_vkwduFvBmMa7


9. Which of the following chemical reaction is the safest laboratory

prepartion of chlorine dioxide?

A. 

B. 

C. 

D. All of these

Answer: 3

Watch Video Solution

2HCIO3 + 2HCI → 2CIO2 + Cl2 + 2H2O

2NaCIO3 + SO2 + H2SO4 →
trace

−−−−−→
of NaCl

2CIO2 + 2NaHSO4

2NaCIO3 + 2(COOH)2

H2O
−−−−−→

90 ∘C
2CIO2 + 2CO2 + (COONa)2 + 2H

10. Which of the following is arranged inorderof increasing bond angle?

A. 

B. 

CI2O < OF2 < Br2O

Br2O < OF2 < Cl2

https://dl.doubtnut.com/l/_vkwduFvBmMa7
https://dl.doubtnut.com/l/_YK7ukXnRSKlB
https://dl.doubtnut.com/l/_iJplVrBTqNUx


Follow Up Test 17

C. 

D. 

Answer: 4

Watch Video Solution

Br2O < Cl2 < OF2

OF2 < Cl2O < Br2O

1. Chlorine gas was first prepared by

A. Davy

B. Berthollet

C. Scheele

D. Mosely

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_iJplVrBTqNUx
https://dl.doubtnut.com/l/_1iJh0eV8BVAT


2. Chlorien gas is manufactured by oxidizing hydrogen chloride gas with

oxygen in the presence of cypric chloride (catalyst) heated to . This

process is known as:

A. Deacon's process

B. Weldon's process

C. Downs process

D. Mond's process

Answer: 1

Watch Video Solution

400∘

3. Which of th efollowing reactions may be used for the laboratory

prepartion of chlorine

A. NaCl + MnO2 + H2SO4(conc. ) →

https://dl.doubtnut.com/l/_1iJh0eV8BVAT
https://dl.doubtnut.com/l/_1WxWAfHjCcji
https://dl.doubtnut.com/l/_Qsn0QAN4srtX


B. 

C. 

D. Both (1) and (2)

Answer: 4

Watch Video Solution

Ca(OCl)Cl + H2O →

KMnO4 + HCl(Conc) →

4. Potanium dischromate reacts with concrntrated hydrochloric acid to

yield

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

CIO2

KCIO2

CI2

CrO2Cl2

https://dl.doubtnut.com/l/_Qsn0QAN4srtX
https://dl.doubtnut.com/l/_Z8cqHKkbbcck


5. When on excess of chlorine is treated with ammonia ,the products

formed are

A.  and 

B.  and 

C.  and 

D.  and 

Answer: 2

Watch Video Solution

N2 NH _ (4)Cl

NCl3 HCl

N2 HCl

NH3Cl NH4Cl

6. Chlorine on reaction with hot and concentrated  yields

A.  and 

B.  and 

C.  and 

NaOH

NaCl NaCIO3

NaCl NaCIO

NaCl NaCIO2

https://dl.doubtnut.com/l/_Z8cqHKkbbcck
https://dl.doubtnut.com/l/_HMQFD6POSnaC
https://dl.doubtnut.com/l/_d6kKTZVK90u5


D.  and 

Answer: 1

Watch Video Solution

NaCl NaCIO4

7. When  gas is passed over dry slaked lime (at room temprature),the

major product is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

Cl2

Ca(OCl)2

Ca(OCl)CI

CaCl2

Ca(CIO3)2

https://dl.doubtnut.com/l/_d6kKTZVK90u5
https://dl.doubtnut.com/l/_IMPQEDK4y0Hu


8. Chlorine forms addition compound with

A. unsatured hydyocarbons

B. carbon monoxide

C. sulphur dioxide

D. all of these

Answer: 4

Watch Video Solution

9. Hydrogen chloride is conveniently made in the laboratory by treating

 with concentrated sulphuric acid

A. 

B. 

C. Both (1)and(2)

D. 

_____

NaCl

NH4Cl

CaCl2

https://dl.doubtnut.com/l/_jXnZnKJ202a3
https://dl.doubtnut.com/l/_GZWt5fIZH3Sm


Follow Up Test 18

Answer: 2

Watch Video Solution

10. The concentrated hydrochloric acid used in the laboratory contains

about  by mass of hydrogen chloride:

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

______%

20

98

65

38

https://dl.doubtnut.com/l/_GZWt5fIZH3Sm
https://dl.doubtnut.com/l/_0hgIbt39Pb3j


1. Which of the following arrangements gives the correct order of

increasing basic character of the conjugate bases of the oxoacids of

chlorine?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

CIO
−
4 < CIO−

3 < CIO−
2 < CIO−

CIO− < CIO−
2 < CIO−

3 < CIO
−
4

CIO
−
4 < CIO−

3 < CIO− < CIO2

CIO−
3 < CIO

−
4 < CIO−

2 < CIO−

2. The ions  and  are stabilized by strong

A.  bonding

B.  bonding

C.  bonding

ClO− , ClO−
2 , ClO−

3 ClO
−
4

pπ − pπ

dπ − pπ

pπ − dπ

https://dl.doubtnut.com/l/_1Hc19Mx7qPH7
https://dl.doubtnut.com/l/_OSmagIV7OjRW


D.  bonding

Answer: 3

Watch Video Solution

sπ − pπ

3. Which of the following is most thermally stable?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

HClO

HCIO2

HCIO3

HCIO4

4. Which of the following is not the correct order of thermal stability?

https://dl.doubtnut.com/l/_OSmagIV7OjRW
https://dl.doubtnut.com/l/_VABzr9Cbo7gG
https://dl.doubtnut.com/l/_OMfMlIiAoq7v


A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

HOCI > HOBR > HOI

HCIO2 > HBrO2 > HIO2

HCIO2 > HBrO2 > HIO3

HClO4 > HBrO4 > HIO4

5. Which of the following compounds is used in the industry for bleaching

cotton fabrics?

A. 

B. 

C. 

D. 

Answer: 1

NaOCI

NaCIO2

NaCIO3

NaCIO4

https://dl.doubtnut.com/l/_OMfMlIiAoq7v
https://dl.doubtnut.com/l/_YfOYaGbEFSxD


Watch Video Solution

6. In hot solution , the sodium hypochlorite disproportionates

rapidly according to the following equation

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

(80∘ )

OCl− → Cl2 + Cl−

OCl− → Cl− + ClO−
3

OCl− → Cl− + CiO−
2

OCl− → Cl− + ClO
−
4

7. Which of the following reactions describes the decomposition of

potassium chlorate?

A. KCIO3 → KCl + O2

https://dl.doubtnut.com/l/_YfOYaGbEFSxD
https://dl.doubtnut.com/l/_SB0yZ3ah9c4l
https://dl.doubtnut.com/l/_pq0Z3UOiBktS


B. 

C. 

D. Both (1) and (3)

Answer: 4

Watch Video Solution

KCIO3 → K2O + Cl2

KCIO3 → KCIO4 + KCl

8. The halogens reacts with each other to form interhalgon

compounds.These are divided into -types.

A. three

B. four

C. five

D. six

Answer: 2

Watch Video Solution

https://dl.doubtnut.com/l/_pq0Z3UOiBktS
https://dl.doubtnut.com/l/_ojQZo3DWcpEQ


9. which of the following interhalogen does not exist?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

BrF5

IF7

IF

CIF3

10. Which of the following interhalgon is not correctly matched with the

given shape?

A. -Pyramidal

B. -Pentagonal bipyamidal

C. -Square pyradmdal

BrF3

IF7

BrF5

https://dl.doubtnut.com/l/_ojQZo3DWcpEQ
https://dl.doubtnut.com/l/_MN517ufG2tOB
https://dl.doubtnut.com/l/_fWZND4odhtv6


Follow Up Test 19

D. -T-shpaed

Answer: 1

Watch Video Solution

CIF3

11. Iodine reaxdily dissolves in  solution due to

A. the coversion of  into  ions

B. the formation fo  ions

C. the formation of  ions

D. the increase in polarity of the medium

Answer: 3

Watch Video Solution

KI

I2 I −

I +
3

I −
3

https://dl.doubtnut.com/l/_fWZND4odhtv6
https://dl.doubtnut.com/l/_Zerq1B2Bjr1f
https://dl.doubtnut.com/l/_hB3jPjEX6Q8x


1. Which of the following noble gases has a full shell(s) of electrons?

A. 

B. 

C. 

D. Both (1) and (2)

Answer: 4

Watch Video Solution

He

Ne

Ar

2. The first noble gas to be discovered was

A. argon

B. helium

C. xenon

D. radon

https://dl.doubtnut.com/l/_hB3jPjEX6Q8x
https://dl.doubtnut.com/l/_M1NldvJJRO1m


Answer: 2

Watch Video Solution

3. Which type of atomics radius is used for noble gases?

A. Covalent radius

B. Metallic radius

C. van der Waals

D. Ionic radius

Answer: 3

Watch Video Solution

4. Which of the following noble gases is present in the Earth's

atmosphere in maximum percentage by volume?

https://dl.doubtnut.com/l/_M1NldvJJRO1m
https://dl.doubtnut.com/l/_WlJMV2yg0TFd
https://dl.doubtnut.com/l/_TtWyTkaCublC


A. Argon

B. Radon

C. Helium

D. Xenon

Answer: 1

Watch Video Solution

5. The most stable isotope of radon is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

.223
86 Rn

.222
86 Rn

.224
86 Rn

.221
86 Rn

https://dl.doubtnut.com/l/_TtWyTkaCublC
https://dl.doubtnut.com/l/_Elz3xj6gZ4r8


6. Which of the following noble gases has the maximum positive electron

gain enthalpy?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

Xe

He

Kr

Ne

7. Which of the noble gases can form a superfluid?

A. 

B. 

C. 

Xe

Ne

He

https://dl.doubtnut.com/l/_Elz3xj6gZ4r8
https://dl.doubtnut.com/l/_IkKuV9iFwCqo
https://dl.doubtnut.com/l/_KTfHkUCCO8oX


D. 

Answer: 3

Watch Video Solution

Ar

8. The elements of Group  are now referred to as the

A. inert gases

B. noble gases

C. rare gases

D. all of these

Answer: 2

Watch Video Solution

18

9. Which of the noble gases is the least polarized?

https://dl.doubtnut.com/l/_KTfHkUCCO8oX
https://dl.doubtnut.com/l/_CwA4nCVUDL6U
https://dl.doubtnut.com/l/_oDyvZd1ilzqm


Follow Up Test 20

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

Rn

Xe

Kr

He

1. Which of the follwing molecular species does not exist?

A. 

B. 

C. 

D. 

He2

He+
2

HeH +

HeH 2 +

https://dl.doubtnut.com/l/_oDyvZd1ilzqm
https://dl.doubtnut.com/l/_KtDLrLqAPjRN


Answer: 1

Watch Video Solution

2. Which of the following noble gases does not form clathrate

compounds?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

Ar

Kr

Ne

Xe

3. Which of the following noble gases has the first ionization enthalpy

which is almost identical to that of dioxygen?

https://dl.doubtnut.com/l/_KtDLrLqAPjRN
https://dl.doubtnut.com/l/_ol07zXZmQcYn
https://dl.doubtnut.com/l/_M5EqqBaZHNge


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

Rn

Xe

Kr

Ar

4. The interaction of  and  gives a mixture of compounds that

contain the  ion.

A. 

B. 

C. 

D. 

Answer: 1

Xe PtF6

______

XeF +

XeF +
2

XeF +
3

XeF
+

4

https://dl.doubtnut.com/l/_M5EqqBaZHNge
https://dl.doubtnut.com/l/_pWzLxcI0H7Bs


Watch Video Solution

5. Xenon tetrafluoride is prepared by heating and  at  bar in

the ratio of

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

Xe F2 873K, 7

1: 20

1: 10

1: 5

1: 2

6. Xenon fluorides are all extermely strong

A. reducing agent

B. oxidizing agent

https://dl.doubtnut.com/l/_pWzLxcI0H7Bs
https://dl.doubtnut.com/l/_nQWEPGriI0nG
https://dl.doubtnut.com/l/_DhGVcvL8KYn1


C. flourinating agents

D. both (2) and (3)

Answer: 4

Watch Video Solution

7. Which of the xenon fluorides undergoes disproportionation during the

hydrolysis

A. 

B. 

C. 

D. All of these

Answer: B

Watch Video Solution

XeF2

XeF4

XeF6

https://dl.doubtnut.com/l/_DhGVcvL8KYn1
https://dl.doubtnut.com/l/_ndIfkHABqxIS
https://dl.doubtnut.com/l/_0Fz8rYXniB0V


8. Which of the following compounds is an explosive white hygroscopic

solid?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

XeO3

XeO4

XeOF4

XeO2F2

9. Which of the following compounds of xenon is nonpolar?

A. 

B. 

C. 

D. 

XeO3

XeO2F2

XeOF4

XeF4

https://dl.doubtnut.com/l/_0Fz8rYXniB0V
https://dl.doubtnut.com/l/_c9s503EKnsOY


Answer: 4

Watch Video Solution

10. For breathing. Deep-sea divers use a mixture of dioxygen and

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

Ne

He

Ar

Xe

11. which of the following nobel gases is used in shop signs and street

lamps?

https://dl.doubtnut.com/l/_c9s503EKnsOY
https://dl.doubtnut.com/l/_mSszHNZy7zW9
https://dl.doubtnut.com/l/_JQS2DptQ5AAP


Question Bank

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

Xe

Kr

Ne

Ar

1. Which of the following is used in the preparation of chlorine?

A. only 

B. only 

C. Both  and 

D. Either  and 

MnO2

KMnO4

MnO2 KMnO4

MnO2 KMnO4

https://dl.doubtnut.com/l/_JQS2DptQ5AAP
https://dl.doubtnut.com/l/_IxBF4uDT1XTJ


Answer: 3

Watch Video Solution

2. Which of the following phosphorus is the most reactive?

A. Red 

B. White 

C. Scarlet 

D. Violet 

Answer: 2

Watch Video Solution

P

P

P

P

3. Which of the following is most acidic?

A. N2O5

https://dl.doubtnut.com/l/_IxBF4uDT1XTJ
https://dl.doubtnut.com/l/_BitoeBcMYnlu
https://dl.doubtnut.com/l/_hTlKAmv4Ot1W


B. 

C. 

D. 

Answer: 1

Watch Video Solution

P2O5

As2O5

Sb2O5

4. A one litre is full of brown bromine vapours. The intensity of brown

colour of vapours will not decrease appreciably on adding to the flask

some

A. carbon disulphide

B. carbon tetrahloride

C. animal charcoal

D. piece of marble

Answer: 4

https://dl.doubtnut.com/l/_hTlKAmv4Ot1W
https://dl.doubtnut.com/l/_vlMs3OnxPviJ


Watch Video Solution

5. About  above the earth ,there is an ozone layer ,Which one of the

following statement about ozone and ozone layer is true?

A. Convesion of  to  is an endothermic process

B. Ozone is a triatomic linear moleucles

C. it is benficial to us as it stops  radiation

D. it is harmful as it stops useful radiation

Answer: 3

Watch Video Solution

20km

O3 O2

UV

6. The chemical formula for calcium chlorite is

A. 

B. 

CaCIO3

Ca(CIO4)2

https://dl.doubtnut.com/l/_vlMs3OnxPviJ
https://dl.doubtnut.com/l/_DOlJAEODzq9w
https://dl.doubtnut.com/l/_g09zNam4LzTo


C. 

D. 

Answer: 3

Watch Video Solution

Ca(ClO4)2

Ca(ClO3)2

7. Which among the follwoing is paramagnetic?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

Cl2O6

Cl2O7

Cl2O

CIO2

https://dl.doubtnut.com/l/_g09zNam4LzTo
https://dl.doubtnut.com/l/_9TkvFzNLKalh


8.  can be prepared by all the following methods except

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

HI

PI3 + H2O

Kl + H2SO4

H2 + I2 →
pt

−−→

I2 + H2S

9. Noble gases do not react with other elements because

A. the size of their atom is very small

B. they are found in abundance

C. there electrons are completlely parired up and they have

completely filled electron subshells

https://dl.doubtnut.com/l/_qdzzFPlNHEip
https://dl.doubtnut.com/l/_1HprHiPcmca0


D. they are monoatomic

Answer: 3

Watch Video Solution

10. Polyanion formation is maximum in

A. boron

B. sulphur

C. oxygen

D. nitrogen

Answer: 2

Watch Video Solution

11. Which of the following species has four lone..

https://dl.doubtnut.com/l/_1HprHiPcmca0
https://dl.doubtnut.com/l/_rOdraSrEoFLe
https://dl.doubtnut.com/l/_V6Pvfq4JTbEx


A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

He

O−

I

Cl−

12. which of the having fluorides doesnot exist.

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

NF5

SbF5

AsF5

OF5

https://dl.doubtnut.com/l/_V6Pvfq4JTbEx
https://dl.doubtnut.com/l/_snj1IaX4Hhhc


13. Maximum strength of gtdrogen bonding is shown by

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

H2S

HF

H2O

NH3

14. Which of the following bonds will be most polar?

A. 

B. 

C. 

N − F

N − N

N − Cl

https://dl.doubtnut.com/l/_snj1IaX4Hhhc
https://dl.doubtnut.com/l/_4YpirttxDWdE
https://dl.doubtnut.com/l/_nbewJtL7d3hY


D. 

Answer: 1

Watch Video Solution

O − F

15.  is the molecular formula of an acid of phosphorus. Its name

and basicity respectively are

A. phosphorous acid and 

B. hypophosphoric acid and 

C. hypophosphorous acid and 

D. hypophosphorous acid and 

Answer: 4

Watch Video Solution

H3PO2

2

2

2

1

https://dl.doubtnut.com/l/_nbewJtL7d3hY
https://dl.doubtnut.com/l/_j2bs1n6Vy786


16. Nitriogen is relatively inactive element because

A. its electronegativity is very high

B. it has low atomic radius

C. dissociation energy of its molecules is fairely high

D. its atom has a stable electreonic configuration

Answer: 3

Watch Video Solution

17. The bleaching action of chlorine is due to

A. reduction

B. oxidation

C. hydorgenation

D. chlorination

https://dl.doubtnut.com/l/_yaIyXmNZExpa
https://dl.doubtnut.com/l/_GYmtux63e9Qi


Answer: B

Watch Video Solution

18. Pure nitrogen is prepared in the laboratory by heating a mixture of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH4Cl + NaOH

NH4NO3 + NaCl

NH4Cl + NaNO2

NH4OH + NaCl

19. ? 


The product is

PH4I + NaOH →

https://dl.doubtnut.com/l/_GYmtux63e9Qi
https://dl.doubtnut.com/l/_Xbfeu44BEXkR
https://dl.doubtnut.com/l/_hyRt02GhOjm6


A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

P4O10

P4O6

NH3

PH3

20.  reacts with water to yield

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

PCI3

H3PO4

H3PO3 + HCl

POCl3

PH3

https://dl.doubtnut.com/l/_hyRt02GhOjm6
https://dl.doubtnut.com/l/_SRI9hxwG66gH


21. Basicity of orthophosphoric acid is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

3

4

5

2

22. when  is heated with water the product is

A. hyphosphoric acid

B. phosphorous acid

C. orthophosphoric acid

P2O5

https://dl.doubtnut.com/l/_SRI9hxwG66gH
https://dl.doubtnut.com/l/_zqvdT58PVsfd
https://dl.doubtnut.com/l/_5SjOLWaMarnw


D. hypophosphorous acid

Answer: 3

Watch Video Solution

23. Aqueous solution of ammonia consists of

A. 

B. 

C. 

D.  and 

Answer: D

Watch Video Solution

NH
+

4

OH −

H +

NH
+

4 OH −

24. Bleaching powder reacts with a few drops of conc.  to yieldHCl

https://dl.doubtnut.com/l/_5SjOLWaMarnw
https://dl.doubtnut.com/l/_5F1rKZgNqEvF
https://dl.doubtnut.com/l/_AA7tulGHbhUL


A. oxygen

B. calcium oxide

C. hypochlorous acid

D. chlorine

Answer: 4

Watch Video Solution

25. it is possible to obtain oxygen from air by fractional distillation

because

A. oxygen is more reactive than nitrogen

B. oxygen has higher boiling point the nitrogen

C. oxygen has lower density than nitrogen

D. oxygen is in a different group of the periodic table form nitrogen

Answer: 2

https://dl.doubtnut.com/l/_AA7tulGHbhUL
https://dl.doubtnut.com/l/_8cYfeM2U09cc


Watch Video Solution

26. Which of the following is a nitric acid anhydride?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2O3

NO2

N2O5

NO

27. Which of the following statement is false?

A. The must abundant rare gs found in the atomspher is helium

B. Xenon is the most reactive among the rare gases

C. Helium is inert gas

https://dl.doubtnut.com/l/_8cYfeM2U09cc
https://dl.doubtnut.com/l/_K1rSO88TL0q2
https://dl.doubtnut.com/l/_aopyVx8nRwXM


D. Radon is obtained form the decay of radium

Answer: 1

Watch Video Solution

28. The correct structural formula of hypophosphorous acid is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HO −

O

∣ ∣

P
∣

OH

− OH

HO −

O

∣ ∣

P
∣

H

− OH

H −

O

∣ ∣

P
∣

H

− OH

HO − O − P
∣

H

− H

https://dl.doubtnut.com/l/_aopyVx8nRwXM
https://dl.doubtnut.com/l/_Fuh8GWiBLr3P
https://dl.doubtnut.com/l/_KdQArqs5tJQ8


29. Which of the following statement is are correct regarding  and 

 


(i)  can give up an electron more easily than  


(ii)  is smaller in size than  


(iii)  is a better reducing agent then  


(iv)  can be oxidized more readily than 

A. (1) and (i)

B. (i) and (iii)

C. (i),(ii) and (iv)

D. (ii) and (iv)

Answer: 1

Watch Video Solution

/ F −

CI −

Cl− F −

Cl− F −

Cl− F −

F − Cl−

30. Calcium phosphate (V) occurs in nature gas

A. fluorite

https://dl.doubtnut.com/l/_KdQArqs5tJQ8
https://dl.doubtnut.com/l/_KFAHBi60jtsV


B. apatite

C. rock phosphate

D. both (2) and (3)

Answer: 4

Watch Video Solution

31. The most stable oxidation states of nitrogen are

A. and 

B. and 

C.  and 

D. ,and 

Answer: 1

Watch Video Solution

−3, + 3, +5

−3, + 3 −5

−3, 0 +3

0, + 3 +5

https://dl.doubtnut.com/l/_KFAHBi60jtsV
https://dl.doubtnut.com/l/_kLEXShppFiup
https://dl.doubtnut.com/l/_eZ7YjSv9Gm0t


32. Nitrous oxide  is prepared by heating

A. a solution of ammonium nitrate acidified with 

B. lead nitrate

C. potassium nitrate

D. ammonium nitrite

Answer: 1

Watch Video Solution

(N2O)

HCI

33. Which of the following oxides of nitrogen is known as laughing gas?

A. Dinitrogen trioxide

B. Dinitrogen oxide

C. Dinitrogen monoxide

D. Dinitrogen tetroxide

https://dl.doubtnut.com/l/_eZ7YjSv9Gm0t
https://dl.doubtnut.com/l/_XzdKB5DjG0SZ


Answer: 2

Watch Video Solution

34. All the oxides of nitrogen exhibits (between  and )

A.  bonding

B.  bonding

C.  bonding

D.  bonding

Answer: 3

Watch Video Solution

N O

dπ − dπ

pπ − dπ

pπ − pπ

dπ − pπ

35. Which of the following oxides of nitrogen is a linear and

asymmertrical molecules?

https://dl.doubtnut.com/l/_XzdKB5DjG0SZ
https://dl.doubtnut.com/l/_n27xgaxykslu
https://dl.doubtnut.com/l/_qoCniUdynFNx


A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

N2O

N2O5

NO2

N2O4

36. Which of the following oxides of very reactive?

A. 

B. 

C. 

D. None of these

Answer: 1

Watch Video Solution

NO

N2O

N2O4

https://dl.doubtnut.com/l/_qoCniUdynFNx
https://dl.doubtnut.com/l/_58XVG8oHlZ2F


37. Which of the following oxides of nitrogen is a mixed anhydride of two

acids?

A. 

B. 

C. both (1) and (2)

D. 

Answer: 3

Watch Video Solution

NO2

N2O4

N2O5

38. Which of the following spices is angular?

A. 

B. 

C. 

N2O

NO2

NO−
3

https://dl.doubtnut.com/l/_58XVG8oHlZ2F
https://dl.doubtnut.com/l/_rpsmi57TRjsX
https://dl.doubtnut.com/l/_K6y0CzlMCsij


D. 

Answer: 2

Watch Video Solution

NO+

39. Which of the following oxides of nitrogen is the anhydride of ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HNO3

N2O3

N2O

NO

N2O5

https://dl.doubtnut.com/l/_K6y0CzlMCsij
https://dl.doubtnut.com/l/_67KLl7z3xnjf


40. Which of the following is used as the abrasive Polishing agent in

fluoride toothpaste?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

/

Na4P2O7

Na2H2P2O7

Ca2P2O7

Na5P3O10

41. In quantitative analysis which of the following groups of metal ions

are precipitated as insoluble sulphides when  is passed through

an ammonical solution of the salt mixture?

A. 

B. 

H2S(g)

IIIB

IV

https://dl.doubtnut.com/l/_ETJzFNMhju70
https://dl.doubtnut.com/l/_V7h9qxKvHSkT


C.  and 

D. 

Answer: 1

Watch Video Solution

IIA IIB

V

42. Hydrogen sulphide truns an acidified 

A. colorless

B. green

C. pink

D. orange

Answer: 2

Watch Video Solution

K2Cr2O7

https://dl.doubtnut.com/l/_V7h9qxKvHSkT
https://dl.doubtnut.com/l/_ODoEfAKHlcZe


43. A pale blue gas having a characteristic sharp smell restores the colour

of blackened lead paintings.The gas is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

O3

O2

SO2

CI2

44. The volume is  obtianed by the decomposition of  litres of  at

 is

A.  litres

B.  litres

C.  litres

O2 4 O3

STP

9

3

6

https://dl.doubtnut.com/l/_mGCoVsvJzNRI
https://dl.doubtnut.com/l/_9PvCXZSIWu5T


D.  litres

Answer: 3

Watch Video Solution

5

45. The most abundant compounf of  is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

CI

NaCl

NaCIO3

NaOCl

NaCIO4

46. Which of the following has tetrahedral geometry?

https://dl.doubtnut.com/l/_9PvCXZSIWu5T
https://dl.doubtnut.com/l/_omMYJdynqFON
https://dl.doubtnut.com/l/_ylKObbSSxNji


A. 

B. 

C. 

D. all of these

Answer: 4

Watch Video Solution

OF2

Cl2O

Br2O

47. Chlorine is used for the bleaching of

A. paper

B. pulp

C. textiles

D. all of these

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_ylKObbSSxNji
https://dl.doubtnut.com/l/_s2CnAnJsUpam


48. Which of the following compounds of broine is used as a gasoline

additive?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

CHBr2

CBr4

BrCH2CH2Br

CH3CHBr2

49. Iodised salt contains

A. 

B. 

C. 

KI

KIO

KIO2

https://dl.doubtnut.com/l/_s2CnAnJsUpam
https://dl.doubtnut.com/l/_Lys4rukJRfBI
https://dl.doubtnut.com/l/_AQCHfMAPWkx1


D. 

Answer: 1

Watch Video Solution

KIO4

50. Repeated use of which one of the following fertilizers would increase

the acidity of the soil?

A. potassium nitrate

B. Urea

C. Superphosphate of lime

D. Ammonium sulphate

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_AQCHfMAPWkx1
https://dl.doubtnut.com/l/_Pwr01uzwOzQR


51. Oxidation of thiosulphate by iodine gives

A. Sulphide ion

B. tetrathionate ion

C. sulphide ion

D. sulphate ion

Answer: 2

Watch Video Solution

52. Which of the following oxides will be the least acidic?

A. 

B. 

C. 

D. 

P4O6

P4O10

As4O6

As4O10

https://dl.doubtnut.com/l/_iokKmum8ewxn
https://dl.doubtnut.com/l/_3eLnS9s8p4bH


Answer: 3

Watch Video Solution

53. By passing  in acidified  solution we get

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

H2S KMnO4

K2SO3

MnO2

K2SO3

S

54. Which of the following oxides of chlorine is obtained by passing dry

chlorine over silver chlorate at .90∘C

https://dl.doubtnut.com/l/_3eLnS9s8p4bH
https://dl.doubtnut.com/l/_0YM5JBR5Mml3
https://dl.doubtnut.com/l/_CxTVKTJzs346


A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

CIO2

CIO4

CIO3

Cl2O

55. A certain compound  when treated with copper sulphate solution

yields a brown precipatate ,On adding hypo solution ,the ppt ,turns

white.The compound  is

A. 

B. 

C. 

D. 

(X)

(X)

K3PO4

KI

KBr

K2CO3

https://dl.doubtnut.com/l/_CxTVKTJzs346
https://dl.doubtnut.com/l/_JS94z6pJF1L1


Answer: 2

Watch Video Solution

56. Which of the following acids has a peroxy linkage?

A. Dithionic acid

B. Sulphuroud acid

C. Pyrosulphuric acid

D. Caro's acid

Answer: 4

Watch Video Solution

57. A solution of  is treated with each of the following which one

would liberate bromine?

KBr

https://dl.doubtnut.com/l/_JS94z6pJF1L1
https://dl.doubtnut.com/l/_eROambO4WzrC
https://dl.doubtnut.com/l/_cyYMftmsIKJX


A. Sulphur dioxide

B. Iodine

C. Chlorine

D. Hydrogen iodide

Answer: 3

Watch Video Solution

58. In the manufacture of bromine from sea water the mother liquor

containing bromide is treated with

A. sulphiur dioxide

B. carbon dioxide

C. chlorine

D. iodine

Answer: 3

https://dl.doubtnut.com/l/_cyYMftmsIKJX
https://dl.doubtnut.com/l/_0bA7XT9VoA07


Watch Video Solution

59. When chloride is passed over dry slaked lime at room temperature the

main reaction product is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

CaCl2

Ca(CIO2)3

CaOCl2

Ca(OCl)2

60. Cane sugar on reaction with nitric acid gives

A. 

B. 

HCOOH

(COOH)2

https://dl.doubtnut.com/l/_0bA7XT9VoA07
https://dl.doubtnut.com/l/_mLz9YXRuzMBt
https://dl.doubtnut.com/l/_KXXKT85Za8Sp


C.  and 

D. 

Answer: B

Watch Video Solution

CO2 SO2

CH3COOH

61. Which is used in the laboratory for last drying of neutral gases?

A. Anhyd 

B. 

C. 

D. Activated charcoal

Answer: 3

Watch Video Solution

CaCl2

Na3PO4

P2O5

https://dl.doubtnut.com/l/_KXXKT85Za8Sp
https://dl.doubtnut.com/l/_3WXRUoUL4aHo


62. Oleum is

A. fuming 

B. fuming 

C. fuming 

D. fuming 

Answer: 1

Watch Video Solution

H2SO4

HNO3

HCl

H2CO3

63. Oxygen will directly react with each of the following elements except

A. 

B. 

C. 

D. 

S

P

Cl

Na

https://dl.doubtnut.com/l/_A0jqinhP2bUx
https://dl.doubtnut.com/l/_DOx04z1hepxv


Answer: 3

Watch Video Solution

64. Which of the following has thelowest boiling point?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

NH3

PH3

AsCl2

SbH3

65. Which of the following is true for white and red phosphours except

that they

https://dl.doubtnut.com/l/_DOx04z1hepxv
https://dl.doubtnut.com/l/_Fs21URsSYtAR
https://dl.doubtnut.com/l/_s9LPsIiXS1B9


A. canbe converted into one another

B. consist of the same kind of atoms

C. can be oxidized by heating in air

D. both are soluble in 

Answer: 4

Watch Video Solution

CS2

66. Which of the following is a noncombustible hydride?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

NH3

PH3

AsH3

SbH3

https://dl.doubtnut.com/l/_s9LPsIiXS1B9
https://dl.doubtnut.com/l/_NSAVm7oJ2WM0


67. Which of the following hydries has the highest dipole moments?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

SbH3

AsH3

PH3

NH3

68. The species ,and  which are isoelectronic with , are

much more reactive than  because

A. these species have higher bond enthalpies

B. these species behaveas Lewis acids

C. the bond in these species are partly polar whilst in  theyare not

CO, CN − NO+ N2

N2

N2

https://dl.doubtnut.com/l/_NSAVm7oJ2WM0
https://dl.doubtnut.com/l/_8l9AqpToAiO5
https://dl.doubtnut.com/l/_Q5hMz8Apagp5


D. the bonds in these species are purely covalent

Answer: 3

Watch Video Solution

69. Which of the following is an exothermic compound?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

SbH3

AsH3

PH3

NH3

70. Combustion of hydrazine produces

https://dl.doubtnut.com/l/_Q5hMz8Apagp5
https://dl.doubtnut.com/l/_rRaXpM78FlFt
https://dl.doubtnut.com/l/_deOYdH1zWXpo


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

NH2OH

N2

N2O

N2O5

71. Which of the following reactions are feasible for hydrazine?

A. 

B. 

C. 

D. all of these

Answer: 4

Watch Video Solution

N2H4 + 2CusO4 → Cu + N2 + 2H2SO4

N2H4 + 2O2 → 2H2O2 + N2

N2H4 + 2I2 → 4HI + N2

https://dl.doubtnut.com/l/_deOYdH1zWXpo
https://dl.doubtnut.com/l/_Q6EdqDZOfaBQ


72. Which of the following is correct for the azide  ion?

A. it is constidered as a pseufohalide ion

B. Analysis fo  is by reduction with 

C. The  ion has  outer electorns and is isoelectronic with 

D. all of these

Answer: 4

Watch Video Solution

(N −
3 )

N −
3 H2S

N −
3 16 CO2

73. The reaction between urea and nitrous acid produces

A. 

B. 

C. 

N2O

N2

NO2

https://dl.doubtnut.com/l/_Q6EdqDZOfaBQ
https://dl.doubtnut.com/l/_L6pWwtdNGGEb
https://dl.doubtnut.com/l/_ecOmf6uKwBl8


D. 

Answer: 2

Watch Video Solution

NH3

74. Which of the following nitrides exist as giant molecules?

A. 

B. 

C. 

D. Both (2) and (3)

Answer: 4

Watch Video Solution

BN

Si3N4

AIN

https://dl.doubtnut.com/l/_ecOmf6uKwBl8
https://dl.doubtnut.com/l/_ti0PYUKqszYH


75. Which of the following gases is evolved when urea is heated with

?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

NaOH

N2O

NO

NH3

N2

76.  is used to clean metal surface because

A.  is a volatile compound

B.  forms a souble complex with metal

C. on warming it dissociates into  and 

D. it is coloureless

NH4CI

NH4Cl

NH4Cl

NH3 HCl

https://dl.doubtnut.com/l/_6xxljxdUe18c
https://dl.doubtnut.com/l/_K8gHk4JKbdKU


Answer: 3

Watch Video Solution

77. In quantitative ananlysis ,ammonia is used to separate

A.  from 

B.  and 

C.  and 

D.  and 

Answer: 4

Watch Video Solution

FeCl3 AlCl3

PbCl2 Mg(OH)2

NaCl KCl

AgCl Hg2Cl2

78. which of the following reaction gives reasonably pure ?

A. 

NO

3KNO2(l) + KNO3(l) + Cr2O3(s) → 2K2CrO4 + 4NO

https://dl.doubtnut.com/l/_K8gHk4JKbdKU
https://dl.doubtnut.com/l/_4rrMy55toVFp
https://dl.doubtnut.com/l/_gGWGfUOLgqic


B. 

C. 

D. all o these

Answer: 4

Watch Video Solution

2NaNO2 + 2FeSO4 + 3H2SO4 → Fe2(SO4)3 + 2NaHSO4 + 2H2O

2NaNO2 + 2NaI + 4H2SO4 → I2 + 4NaHSO4 + 2H2O + 2NO

79. Which of the following allotropes of phosphorus is used in the

manufacture of safety matches?

A. White 

B. Yellow 

C. Red 

D. Black 

P

P

P

P

https://dl.doubtnut.com/l/_gGWGfUOLgqic
https://dl.doubtnut.com/l/_qngkWQBzF4vl


Answer: 3

Watch Video Solution

80. Yellow ammonium sulphide is obtained by passing  into

A. 

B. a mixture of  and 

C. 

D. a mixture of  and 

Answer: 3

Watch Video Solution

H2S

(NH4)2CO3

NaOH NH3

NH3

NH3 NH4Cl

81.  reacts with  in an acidic medium to produce.

A. 

KIO3 SO2

Kl

https://dl.doubtnut.com/l/_qngkWQBzF4vl
https://dl.doubtnut.com/l/_xAFb9QLgSDoC
https://dl.doubtnut.com/l/_vdA6LKLkFA9f


B. 

C. 

D. 

Answer: 3

Watch Video Solution

KIO4

I2

KI3

82. The main source of iodine is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

NaIO3

NaIO4

NaOl

Nal

https://dl.doubtnut.com/l/_vdA6LKLkFA9f
https://dl.doubtnut.com/l/_4ynkb0YztIJS
https://dl.doubtnut.com/l/_2Cz3HbIJn5vW


83. Silica reacts with  to produce

A.  and 

B.  and 

C.  and 

D.  and 

Answer: 3

Watch Video Solution

HF

Si HFO2

SiF2 H2O

H2[SiF6] H2O

SiF4 H2O

84. Which of the following is the only exothermic oxide of chlorine?

A. 

B. 

C. 

D. 

CI2O

CIO2

Cl2O6

Cl2O7

https://dl.doubtnut.com/l/_2Cz3HbIJn5vW
https://dl.doubtnut.com/l/_LtKfiSVCk7Fz


Answer: 4

Watch Video Solution

85. Which of the following is not coloured?

A. 

B. 

C. 

D. All of these

Answer: 1

Watch Video Solution

I2O6

I2O4

I4O9

86. which of the following statement is incorrect regarding the chloride

dioxide  molecules?(CIO2)

https://dl.doubtnut.com/l/_LtKfiSVCk7Fz
https://dl.doubtnut.com/l/_DBYM3zZv5L5v
https://dl.doubtnut.com/l/_0qGbSUs74Glu


A. The two  bond lengths are equal

B. Both  bond lengths are longer than for single 

bonds

C. Both  bond length are shorter than for single 

bonds

D. mioleculs is angular with  bond angle being 

Answer: 2

Watch Video Solution

Cl − O

CI − O Cl − O

Cl − O Cl − O

CIO2 O − Cl − O 118∘

87. which of the following compouds of fluorine is used for dielectrics?

A. 

B. 

C. 

D. 

UF6

SF6

NaF

SnF2

https://dl.doubtnut.com/l/_0qGbSUs74Glu
https://dl.doubtnut.com/l/_ENq17t36hr9Q


Answer: 2

Watch Video Solution

88. An aqueous solution of sodium carbonate absorbs  and  to

yield

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NO NO2

NaNO3 + CO

NaNO2 + CO

NaNO3 + CO3

NaNO2 + CO2

89. which of the following quickely absorbs oxygen?

https://dl.doubtnut.com/l/_ENq17t36hr9Q
https://dl.doubtnut.com/l/_6yfStVSJb6Jw
https://dl.doubtnut.com/l/_m7TtFi4RjGWp


A. Turpentine oil

B. Cinnamon oil

C. Alkaline solution of pyragollol

D. Carbon tetrachlorde

Answer: 3

Watch Video Solution

90. When orthophosphoric acid is heated to  the product formed

is

A. 

B. 

C. 

D. 

Answer: 1

600∘C

HPO3

H3PO3

P2O5

PH3

https://dl.doubtnut.com/l/_m7TtFi4RjGWp
https://dl.doubtnut.com/l/_mX1bTflQ11xI


Watch Video Solution

91. Which of the following compounds is mixed with  to serve as a

rocket fuel?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

N2O4

NH2OH

NH3

N2H4

N3H

92. Reduction of hydrazine with zinc and  gives

A. 

B. 

HCI

N2O

N2

https://dl.doubtnut.com/l/_mX1bTflQ11xI
https://dl.doubtnut.com/l/_itP9XG9g0ImL
https://dl.doubtnut.com/l/_I0eDx4Sc29bE


C. 

D. 

Answer: 4

Watch Video Solution

NH2OH

NH3

93. Hydroxylamine  is manufacture in large quantities to make

cycloexanone oxime, which is covnerted to caprolactam and then

polymerized to give

A. Bakelite

B. Nylon-6

C. Nylon -6, 6

D. Melmac

Answer: 2

Watch Video Solution

(NH2OH)

https://dl.doubtnut.com/l/_I0eDx4Sc29bE
https://dl.doubtnut.com/l/_40YyPlCk7npM


94. Lithium reacts with hydrogen azide to produce

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

Li3N

LiN2

LiN3

Li3N2

95. The azide ion is a resonance hybrid of  structures

A. 

B. 

C. 

D. 

______

3

4

2

0

https://dl.doubtnut.com/l/_40YyPlCk7npM
https://dl.doubtnut.com/l/_6cSHa9Xsj7IS
https://dl.doubtnut.com/l/_7EtTAqW2GDv5


Answer: 1

Watch Video Solution

96. The hydrogen azide molecules has a bent geometery .The bond angle

 is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

H − N − N

120∘

112∘

107∘

104∘

97. Which of the following is very similar to  as a ligand?CO

https://dl.doubtnut.com/l/_7EtTAqW2GDv5
https://dl.doubtnut.com/l/_N90wvGtwN6WT
https://dl.doubtnut.com/l/_Oyo4EHaTmCNw


A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

PI3

PBr3

PCl3

PF3

98. Which of the following has lest covalent  bond ? .

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

P − H

PH
+

4

P2H
+

5

P2H
2 +
6

PH3

https://dl.doubtnut.com/l/_Oyo4EHaTmCNw
https://dl.doubtnut.com/l/_HdQbo3FeM3D5


99. Active nitrogen can be made by passing an electric spark through 

gas

A. at ordinary pressure

B. at a very low temperature

C. at a very low pressure (2 mm Hg)

D. at a high pressure

Answer: 3

Watch Video Solution

N2

100. Nitrolim is a mixtrue of

A. 

B.  graphite

C.  diamond

CaCN2 + N2

CaCN2 +

CaCN2 +

https://dl.doubtnut.com/l/_HdQbo3FeM3D5
https://dl.doubtnut.com/l/_cDWm7S9aliES
https://dl.doubtnut.com/l/_6sRVMfuBgL9l


D.  graphite

Answer: 2

Watch Video Solution

CaC2 +

101. Ammonia on reaction with hyprochlorite ions can form

A.  and 

B.  and 

C.  and 

D.  and 

Answer: 1

Watch Video Solution

N2H4 NH4Cl

HNO3 NH4Cl

N2 N2H4

NO N2H4

102.  is easilyNO2

https://dl.doubtnut.com/l/_6sRVMfuBgL9l
https://dl.doubtnut.com/l/_3i9Ix6TgjaLk
https://dl.doubtnut.com/l/_ClsIGWc4rvHK


A. oxidized to  and reduced to 

B. oxidized to  and reduced to 

C. oxidized to  and reduced to 

D. oxidized to  and reduced to 

Answer: 2

Watch Video Solution

NO−
3 NO

NO+
2 NO−

2

NO−
3 N2

NO+
2 NH3

103. Which of the following species has the least bond angle?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

NO−
3

NO+
2

NO−
2

NO2

https://dl.doubtnut.com/l/_ClsIGWc4rvHK
https://dl.doubtnut.com/l/_jpByKtSzI9n1


104. Cyclohexane is oxidized by  to produce

A. oxalic acid

B.  and water

C. malonic acid

D. adipic acid

Answer: 4

Watch Video Solution

HNO3

CO2

105. which of the following minerals is known asn orpiemnt?

A. 

B. 

C. 

As2S3

As4S4

HgS

https://dl.doubtnut.com/l/_jpByKtSzI9n1
https://dl.doubtnut.com/l/_7wJksUjAumP5
https://dl.doubtnut.com/l/_dhBbPN2G1o7M


D. 

Answer: 1

Watch Video Solution

PbS

106. Hydrofluroic acid can't be stored in glass vessels because it attacks

glass to from

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na2SiO3

Na2SiF6

SiF6

SiF4

https://dl.doubtnut.com/l/_dhBbPN2G1o7M
https://dl.doubtnut.com/l/_O2qWRBdLzUJk


107. Chlorite perchlorate,  is less stable than  and

decomposes to  at room temperature

A.  and 

B.  and 

C.  and 

D.  and 

Answer: 2

Watch Video Solution

CI. CIO4 CIO2

_______

O2 Cl2

O2, Cl2 Cl2O6

O2, Cl2 Cl2O

O2, Cl2 ClO

108. Dichlorine hexoxide  can be prepared by the reaction

between

A.  and 

B.  and 

C.  and 

(CI2O6)

CIO2 O2

CI2O7 O2

CIO2 O3

https://dl.doubtnut.com/l/_6NdW8bvTqiL9
https://dl.doubtnut.com/l/_gbgTYzxmpzR9


Archieves

D.  and 

Answer: 3

Watch Video Solution

CI2O O3

1.  is soluble in  only in presence of . It is due to the

formation of

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

AIF2 HF KF

K3[AlF3H3]

K3[AlF6]

AIH3

K[AlF3H]

https://dl.doubtnut.com/l/_gbgTYzxmpzR9
https://dl.doubtnut.com/l/_pyrqbApRz7Yb


2. The hybridization of atomic orbitals of nitrogen is , and 

 respectively are

A.  and 

B.  and 

C.  and 

D.  and 

Answer: 3

Watch Video Solution

NO+
2 , NO−

3

NH
+

4

sp, sp3 sp2

sp2, sp3 sp

sp, sp2 sp3

sp2, sp sp3

3. Which of the of the following fluoro -compouds is most likely to beahve

as a Lewis base?

A. 

B. 

C. 

BF3

PF3

CF4

https://dl.doubtnut.com/l/_kStMrmeLKBq1
https://dl.doubtnut.com/l/_yNKWWijJfjUu


D. 

Answer: 2

Watch Video Solution

SiF4

4. Hot concentrated sulpuric acis is a moderatly strong oxidizing agent.

Which of the following reaction does not shwo oxidizing behaviour?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

Cu + 2H2SO4 → CuSO4 + SO2 + H2O

3S + 2H2SO4 → + 3SO2 + 2H2O

C + 2H2SO4 → CO2 + 2SO2 + 2H2O

CaF2 + H2SO4 → CaSO4 + 2HF

https://dl.doubtnut.com/l/_yNKWWijJfjUu
https://dl.doubtnut.com/l/_10Gowmtd32QV


5. The correct geometery and hydizatiojn for  are

A. octahedral 

B. trigonal bipyramidel 

C. planar triangle ,

D. squarer planar 

Answer: 1

Watch Video Solution

XeF4

sp3d2

sp3d

sp3d3

sp3d2

6. Among the following ,which one is the wrong statement

A.  and  do not exist

B.  bonds are present in 

C.  and  have same shape

D.  has bent geometery

PH5 BiCl5

pπ − pπ SO2

SeF4 CH4

I +
3

https://dl.doubtnut.com/l/_FQiNXeTtgPPu
https://dl.doubtnut.com/l/_CCnbERqsM5gk


Answer: 3

Watch Video Solution

7. When copper is heated with conc.  it produces

A.  and 

B.  and 

C.  and 

D.  and 

Answer: 2

Watch Video Solution

HNO3

Cu(NO3)2 N2O

Cu(NO3)2 NO2

Cu(NO3)2 NO

Cu(NO3)2, NO NO2

8. Which of the following correct statement for the given acids?

https://dl.doubtnut.com/l/_CCnbERqsM5gk
https://dl.doubtnut.com/l/_pVNLo8IUeccn
https://dl.doubtnut.com/l/_lYa0c5K3K7S5


A. Phosphinic acid is diprotic acid while phosphonic acid is a

monoprotic acid

B. Phosphininc acid is a monoprotic acid while phosphonic acid is a

diprotic acid

C. Both are diprotic acid

D. Both are tripotic acid

Answer: 2

Watch Video Solution

9. Among the following, the corect order of acidity is

A. 

B. 

C. 

D. 

HCIO4 < HCIO2 < HCIO < HCIO3

HCIO3 < HCIO4 < HCIO2 < HCIO

HCIO < HCIO2 < HCIO3 < HCIO4

HCIO2 < HCIO < HCIO3 < HCIO4

https://dl.doubtnut.com/l/_lYa0c5K3K7S5
https://dl.doubtnut.com/l/_tJnRWdnNSbEu


Answer: 3

Watch Video Solution

10. Which one of the following statement is correct when  is passed

through acidified  solution?

A. Green  is formed

B. The solution truns blue

C. The solution is decolourized

D.  is reduced

Answer: 1

Watch Video Solution

SO2

K2Cr2O7

Cr2(SO4)3

SO2

11. The product obtained a result of a reaction of nitrogen with  isCaC2

https://dl.doubtnut.com/l/_tJnRWdnNSbEu
https://dl.doubtnut.com/l/_qhgIHlTLouYn
https://dl.doubtnut.com/l/_RVjpFgDG7Cvt


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

Ca2CN

CaCN2

CaCN

CaCN3

12. Which of the following is the correct order of bond dissociation

enthalpy?

A. 

B. 

C. 

D. 

Answer: 3

F2 > Cl2 > Br2 > I

I2 > Br2 > Cl2 > F2

Cl2 > Br2 > F2 > I2

Br2 > I2 > F2 > Cl2

https://dl.doubtnut.com/l/_RVjpFgDG7Cvt
https://dl.doubtnut.com/l/_MjYn3PB6C1e0


Watch Video Solution

13. Strong reducing behaviour of  is due to :

A. High oxidation state of phosphorus

B. Presence of two  group and one  bond

C. Presence of one  group and two  bond

D. High electron gain enthalpy of phosphorus

Answer: 3

Watch Video Solution

H3PO4

−OH P − H

−OH P − H

14. Decreasing order of stability of  and  is

A. 

B. 

C. 

O2, O−
2 , O+

2 O2 −
2

O2 > O+
2 > O−

2 > O−
2

O−
2 > O2 −

2 > O+
2 > O2

O+
2 > O2 > O−

2 > O2 −
2

https://dl.doubtnut.com/l/_MjYn3PB6C1e0
https://dl.doubtnut.com/l/_VwkZdqmI1w7y
https://dl.doubtnut.com/l/_sHsJ55LF3rRC


D. 

Answer: 3

Watch Video Solution

O2 −
2 > O−

2 > O2 > O+
2

15. In which of the following pairs , both the species are not isostructural

?

A. 

B. 

C. 

D. Diamond, silicon carbide

Answer: B

Watch Video Solution

NH3, PH3

XeF4, XeO4

SiCl4, PCl+
4

https://dl.doubtnut.com/l/_sHsJ55LF3rRC
https://dl.doubtnut.com/l/_UrTRJPiYiy4f


16. Which of the following statement given below is incorrect?

A.  is isoelectronic with 

B.  is an oxide of fluorine

C.  is an anhydride of perchloric acid

D.  molecule is bent

Answer: 2

Watch Video Solution

ONF O2N
−

OF2

Cl2O7

O3

17. The variation of the boiling point of the hydrogen halides is in the

order 

A. the bond energy of  molecules is greater than in other

hydrogen halides

B. the effect of nuclear shielding is much reduced in flurorine which

polarisses the molecules

HF > HI > HHHHHBr > HCI

HF

HF

https://dl.doubtnut.com/l/_FqjUaZ8ll4dA
https://dl.doubtnut.com/l/_obecVQ9aTbl7


C. The electronegativity of fluorine is much higher than for other

element in the group

D. There is strong hydrogen bonding between  molecules

Answer: 4

Watch Video Solution

HF

18. Nitrogen dioxide and sulphur dioxide have some properties in

common, which property is shown by one of these compounds, but not

by the other?

A. is used as a food preservative

B. forms acid-rain

C. is a reducing agent

D. is soluble in water

Answer: 3

https://dl.doubtnut.com/l/_obecVQ9aTbl7
https://dl.doubtnut.com/l/_4ov52suBsIuV


Watch Video Solution

19. Which of the following pairs of ions are isoelectronic and

isostructural?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

CIO−P
3 , SO2 −

3

CIO− 2
3 , SO2 −

3

CIO−
3 , CO2 −

3

SO2 −
3 , NO−

3

20. Maximum bond angle at nitrogen is present in which of the following

?

A. NO−
3

https://dl.doubtnut.com/l/_4ov52suBsIuV
https://dl.doubtnut.com/l/_hwExx5cQolfm
https://dl.doubtnut.com/l/_62TWYfsFs22n


B. 

C. 

D. 

Answer: 4

Watch Video Solution

NO2

NO−
2

NO+
2

21. Which of the following species has plane tringular shape ?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

N −
3

NO−
3

NO−
2

CO2

https://dl.doubtnut.com/l/_62TWYfsFs22n
https://dl.doubtnut.com/l/_3sN5bhEc6Fbe
https://dl.doubtnut.com/l/_GhmumfUzXxgc


22. Acidity of diprotic acids in aqueous solutions increases in the order

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

H2S < H2Se < H2Te

H2Se < H2S < H2Te

H2Te < H2S < H2Se

H2Se < H2Te < H2S

23. Indentify the correct order of solubility in aqueous medium

A. 

B. 

C. 

D. 

ZnS > Na2S > CuS

Na2S > CuS > ZnS

Na2S > ZnS > CuS

CuS > ZnS > Na2S

https://dl.doubtnut.com/l/_GhmumfUzXxgc
https://dl.doubtnut.com/l/_V9X3CQpDAWkU


Answer: 3

Watch Video Solution

24. Which is the strongest acid in the following ?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

HCIO3

HCIO4

H2SO3

H2SO4

25. Which of the following does not give oxygen on heating ?

A. Zn(CIO3)2

https://dl.doubtnut.com/l/_V9X3CQpDAWkU
https://dl.doubtnut.com/l/_n7KhHVyRa6YX
https://dl.doubtnut.com/l/_M78oKx8UpSnV


B. 

C. 

D. 

Answer: 3

Watch Video Solution

K2Cr2O7

(NH4)2Cr2O7

KCIO3

26.  is isostructure with

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

XeF2

ICl−
2

SbCI3

BaCI2

TeF2

https://dl.doubtnut.com/l/_M78oKx8UpSnV
https://dl.doubtnut.com/l/_L4Ck8P5Y4pyo
https://dl.doubtnut.com/l/_jvcGvYnHO9jd


27. When  gas reacts with hot and concentrated sodium hydroxide

solution ,the oxidation number of chlorine changes from:

A. Zero to  and Zero to 

B. Zero to  and Zero to 

C. Zero to  and Zero to 

D. Zero to  and Zero to 

Answer: 2

Watch Video Solution

CI2

+1 −5

−1 +5

−1 +3

+1 −3

28. In which of the following compounds, nitrogen exhibits highest

oxidation state?

A. 

B. 

C. 

N2H4

NH3

N3H

https://dl.doubtnut.com/l/_jvcGvYnHO9jd
https://dl.doubtnut.com/l/_8CkBBjhFfdkh


D. 

Answer: C

Watch Video Solution

NH2OH

29. A mixture of potassium chlorate ,oxalic acid and sulphuric acid is

heated.determine the reaction which element undergoes maximum

change in the oxidation number?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

S

H

Cl

C

https://dl.doubtnut.com/l/_8CkBBjhFfdkh
https://dl.doubtnut.com/l/_cYBVVrgeTS9r
https://dl.doubtnut.com/l/_NS7mVGBa9Hff


30. Which of the following statement is not valid for oxoaids of

phosphorus?

A. Orthophosphoric acid is used in the manufacture of triple

superphosphate

B. Hyprophosphorous acid is a diprotic acid

C. All Oxoacids contain tetrahedral four cordinated phosphorous

D. All oxoacids contain at least one  unit and one 

group.

Answer: 2

Watch Video Solution

P = O P − OH

31. Sulphur trioxide can be obtained by which of the following reactions:

A. 

B. 

CaSO4 + C
Δ

−−→

Fe2(SO4)3

Δ
−−→

https://dl.doubtnut.com/l/_NS7mVGBa9Hff
https://dl.doubtnut.com/l/_hz9yAhSLU3HQ


C. 

D. 

Answer: 2

Watch Video Solution

S + H2SO4

Δ
−−→

H2SO4 + PCl5 →

32. Which of the two lons from the list given have the geometry that is

explained by the same hybridization of orbitals

?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: 2

Watch Video Solution

NO−
2 , NO−

3 , NH −
2 NH

+
4 SCN −

NO−
2 NH −

2

NO−
2 NO−

3

NH
+

4 NO−
3

SCN − NH −
2

https://dl.doubtnut.com/l/_hz9yAhSLU3HQ
https://dl.doubtnut.com/l/_2PUDQI8TtY3r


33. Which one is the active constituent of bleaching powder?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

CaCI2

CaOCl2

Ca(OCI)2

CaO2Cl

34. Which of the following is a the most preferred and hence of the lower

energy for ?

A. 

SO3

https://dl.doubtnut.com/l/_2PUDQI8TtY3r
https://dl.doubtnut.com/l/_lO17vQRz4tex
https://dl.doubtnut.com/l/_37xUiao3cA3x


B. 

C. 

D. 

Answer: 1

Watch Video Solution

35. The correct order of increasing bond angle in the following species is

A. 

B. 

C. 

D. 

CIO−
2 < CI2O < CIO2

CI2O < CIO2 < CIO−
2

CIO2 < CI2O < CIO−
2

CI2O < CIO−
2 < CIO2

https://dl.doubtnut.com/l/_37xUiao3cA3x
https://dl.doubtnut.com/l/_xIigDSAvYlTZ


Answer: 1

Watch Video Solution

36. Oxidation state of  in  are respectively

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

P H4P2O5, H4P2O6, H4P2O7

+3, + 4, + 5

+3, + 5, + 4

+5, + 3, + 4

+5, + 4, + 3

37. Which one of the following arrangements represents the correct

order of electron gain enthalpy of the given atomic species?

https://dl.doubtnut.com/l/_xIigDSAvYlTZ
https://dl.doubtnut.com/l/_gs1l3IpWVujP
https://dl.doubtnut.com/l/_wchP6tAVFiUH


A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

S < O < Cl < F

Cl < F < O < S

O < S < F < Cl

F < S < O < Cl

38. In which one of the following species , the central atom has the tuype

of hybdridiztion which is not the same as that present in other three?

A. 

B. 

C. 

D. 

Answer: 4

PCl5

SF4

I −
3

SbCI 2 −
5

https://dl.doubtnut.com/l/_wchP6tAVFiUH
https://dl.doubtnut.com/l/_aZDVCiFHjT57


Watch Video Solution

39. How many bridging oxygen atoms are presents in  ?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

P4O10

6

4

2

5

40. Some of the properties of the two species,  and  are

described below.Which one of them is correct?

A. Dismilar in hybridization for the centeral atom with different

structures

NO−
3 H3O

+

https://dl.doubtnut.com/l/_aZDVCiFHjT57
https://dl.doubtnut.com/l/_vaWFH6Az2xnz
https://dl.doubtnut.com/l/_HBkIB8L0FTRQ


B. Isostructural with same hybridization for the central atom

C. Isostructural with different hybridization for the centeral atom

D. Similar in hybridization for the central atom with different

structures

Answer: 1

Watch Video Solution

41. In the case of alkali metals, the covalent character decreases in the

order.

A. 

B. 

C. 

D. 

Answer: 3

MF > MCl > MBr > MI

MF > MCl > MI > MBr

Ml > MBr > MCl > MF

MCl > MI > MBr > MF

https://dl.doubtnut.com/l/_HBkIB8L0FTRQ
https://dl.doubtnut.com/l/_x52D8cOmvDgh


Watch Video Solution

42. Which of the following molecules acts as a Lewis acid?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

(CH3)2O

(CH3)3P

(CH3)3N

(CH3)3B

43. Which of the following is the strongest oxidising agent?

A. 

B. 

C. 

Br2

I2

Cl2

https://dl.doubtnut.com/l/_x52D8cOmvDgh
https://dl.doubtnut.com/l/_6lzUeaIJT3mw
https://dl.doubtnut.com/l/_A38dwe7rZHN4


D. 

Answer: 4

Watch Video Solution

F2

44. In which of the following molecular/ions  and 

the correct atom is  hybridized ?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: 3

Watch Video Solution

BF2, NO−
2 , NH2 H2O

sp2

NH −
2 H2O

NO−
2 H2O

BF3 NO−
2

NO−
2 NH −

2

https://dl.doubtnut.com/l/_A38dwe7rZHN4
https://dl.doubtnut.com/l/_WObEMgDjF5Pu


45. Which one of the following arrangements does not give the correct

picture of the trends indicated against it ?

A.  : Electronegativity

B.  : Oxizied power

C.  : Electron gain enthalpy

D.  : Bond dissociation energy

Answer: 3, 4

Watch Video Solution

F2 > Cl2 > Br2 > I2

F2 > Cl2 > Br2 > I2

F2 > Cl2 > Br2 > I2

F2 > Cl2 > Br2 > I2

46. The angular shape of none molecule  consists of

A.  sigma  Pi bonds

B.  sigma  Pi bonds

C.  sigma  Pi bonds

D.  sigma  Pi bonds

(O3)

2 1

1 2

2 2

1 1

https://dl.doubtnut.com/l/_6Vyz2uhGBrlj
https://dl.doubtnut.com/l/_4SBZzNDLGkPh


Answer: 1

Watch Video Solution

47. The correct order for bond angles is :

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

NO+
2 < NO−

2 < NO2

NO−
2 < NO+

2 < NO2

NO−
2 < NO2 < NO+

2

NO+
2 < NO2 < NO−

2

48. In which of the following pairs, the two spices are iso-structural?

A.  and BF3 NF3

https://dl.doubtnut.com/l/_4SBZzNDLGkPh
https://dl.doubtnut.com/l/_0BVvoFVb9hko
https://dl.doubtnut.com/l/_Y7zbka1BbTve


B.  and 

C.  and 

D.  and 

Answer: 2

Watch Video Solution

BrO−
3 XeO3

SF4 XeF4

SO2 −
3 NO−

3

49. Which one of the following ionic species has the greatest proton

affinity to form stable compound ?

A. 

B. 

C. 

D. I^(-)`

Answer: 3

Watch Video Solution

HS −

NH −
2

F −

https://dl.doubtnut.com/l/_Y7zbka1BbTve
https://dl.doubtnut.com/l/_nxubIBPwRg6T


50. Which of the following species has a linear shape?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

O3

NO−
2

SO2

NO+
2

51. Which of the following is not isostructural with  ?

A. 

B. 

C. 

D. 

SiCI4

NH
+

4

SCl4

SO
2 −
4

PO
3 −
4

https://dl.doubtnut.com/l/_nxubIBPwRg6T
https://dl.doubtnut.com/l/_pAGjJjGMmeD6
https://dl.doubtnut.com/l/_UzBqUCij5oTB


Answer: 2

Watch Video Solution

52. Which of the follwing is the most basic oxide?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

SeO2

Al2O3

Sb2O3

Bi2O3

53. Which one of the following orders is not correct in accordance with

the property stated against is ?

https://dl.doubtnut.com/l/_UzBqUCij5oTB
https://dl.doubtnut.com/l/_XguDml9iifEf
https://dl.doubtnut.com/l/_r7kS0b02GeBu


A. : Bond dissociation energy

B. : Oxidising power

C. : Acidic property in water

D. : Electronegativity

Answer: 1

Watch Video Solution

F2 > Cl2 > Br2 > I2

F2 > Cl2 > Br2 > I2

HI > HBr > HCl > HF

F2 > Cl2 > Br > I2

54. In which of the following molecules all the bonds are not equal ?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

NF3

ClF3

BF3

AlF3

https://dl.doubtnut.com/l/_r7kS0b02GeBu
https://dl.doubtnut.com/l/_zz6eBu4uBGZT


55. Which one of the following oxides is expected to exhibit paramagnetic

behaviour?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

CO2

SO2

ClO2

SiO2

56. Among  and  the element which can form more than

one binary compound with chlorine is

A. 

B. 

K, Ca, Fe Zn

Fe

Zn

https://dl.doubtnut.com/l/_zz6eBu4uBGZT
https://dl.doubtnut.com/l/_r8O1ZAxTPWNP
https://dl.doubtnut.com/l/_zr78dcnKNeV6


C. 

D. 

Answer: 1

Watch Video Solution

K

Ca

57. Which is the best description of the behaviour of bromine in the

reaction given below 

A. Proton acceptance

B. Both oxidation and reductions

C. Only oxidation

D. only reduction

Answer: 2

Watch Video Solution

H2O + Br2 → HOBr + HBr

https://dl.doubtnut.com/l/_zr78dcnKNeV6
https://dl.doubtnut.com/l/_4SVtulcp9D0D


58. Which of the following statement is not true?

A.  is a stronger acid than 

B.  is a stronger acid than 

C. Among halide ions, iodide ion is the most powerful reducing agent

D. Fluorine is the only halogen that does not show a variable

oxidation state

Answer: 2

Watch Video Solution

HOCl HOBr

HF HCl

59. The oxidation states of sulphur in the anions , and 

 follow the order

A. 

B. 

SO2 −
3 , S2O

2 −
4

S2O
2 −
6

S2O
2 −
4 < S2O

2 −
6 < SO2 −

3

S2O
2 −
6 < S2O

2 −
4 < SO2 −

3

https://dl.doubtnut.com/l/_4SVtulcp9D0D
https://dl.doubtnut.com/l/_IVvEGGABbHmi
https://dl.doubtnut.com/l/_2wbe7SA9mi2z


C. 

D. 

Answer: 2

Watch Video Solution

S2O
2 −
4 < SO2 −

3 < S2O
2 −
6

SO2 −
3 < S2O

2 −
4 < S2O

2 −
6

60.  gives  gas with  and  but not with  because

A.  acts a oxidies agent where it reacts with 

B.  is a weaker acid than  and 

C.  is placed above hydrogen in electrochemical series.

D.  is reduced in preference to hydronium ion

Answer: 3

Watch Video Solution

Zn H2 H2SO4 HCl HNO3

Zn HNO3

HNO3 H2SO4 HCl

Zn

NO−
3

https://dl.doubtnut.com/l/_2wbe7SA9mi2z
https://dl.doubtnut.com/l/_QpH6gwWo8AES


61. Which of the following reaction is not feasible?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

2KI + Br2 → 2KBr + I2

2KBr + I2 → 2KI + Br2

2KBr + Cl2 → 2KCl + Br2

2H2O + 2F2 → 4HF + O2

62. Nitrogen forms  but phosphorous when forms  gets readily

converted into  because

A. triple bond dis present between phosphorous atoms

B.  bonding is weak

C.  bonding is strong

D. multiple bonds are formed easily

N2 P2

P4

pπ − pπ

pπ − pπ

https://dl.doubtnut.com/l/_eGvwHmsxhtzS
https://dl.doubtnut.com/l/_oo7uxzt5Y8xW


Answer: 2

Watch Video Solution

https://dl.doubtnut.com/l/_oo7uxzt5Y8xW

